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Question ID:- 1
While biologically abilities such as walking can be gained through
biologically abilities such as writing require

(1) primary; playful interaction with environment; secondary; explicit instruction
(2) secondary; playful interaction with environment; primary; explicit instruction
(3) primary; explicit instruction; secondary; self-driven practice

(4) secondary; eliminating explicit instruction; primary; explicit instruction

EEEaD] Trgam & & =@t F HTETH | g 2f 99l g;
SEEID) Trgam o9 & o & oo T ATTITFHAT el 2 |

(1) ATATHF, TEAT F AT A2 A T Aed (6410 ; TSI, T2 A9
(2) Taetars; afiaer & gy graveerT v, griEsF, T aqeee
(3) ITATHA; Tt S=eT; (B, Fa-F=iam s

(4) BT, vree g it FBewmEr; s, o aqsae

Options:-

.1, Option ID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2
Correct Answer :- 1 Option ID :- 1

Question ID:- 2

Which of the following statements is correct in the context of development ?

(1) Development is purely a result of heredity only.
(2) Course of development is from specific to general.
(3) Development happens from outward to centre.

(4) Development proceeds from head to toe.
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P & ded ¥ Mefotag § § F19-971 F99 981 g ?

(1) =T qut = & Feger A arRaT 7 3 oo 2
(2) fa=mer =1 Fw fAferes & #rarT it AT IETE |

@) FEFTH AT AT AT |

(4) FAwm e T atg f A azar g |

Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 4, Option ID : -8
Correct Answer :- 4 Option ID :- 8

Question ID:- 3

Which of the following is primary socialisation agent/agency far children in primary grades ?

(1) Immediate family

(2) Cultural beliefs

(3) Religious organisation
(4) Print media

ITATHF FAT F A== % Tou {=taiad § 7 FIT-a1 TFTHE TS 00 F
FIEH/FEEIT 2 2

(1) Feeas afiame

(2) AIEFTAF g
(3) &TTH= HTE
(4) qiFT &= A1

Options:-

.1, Option ID :- 9,

. 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 1, Option ID : -9
Correct Answer :- 1 Option ID :- 9

Question ID:- 4




In accordance with Jean Piaget's theory of Cognitive Development, at what stage can children
‘mentally do reverse thinking' ?

(1) Sensimotor
(2) Preoperational
(3) Concrete operational

(4) Formal operational

ST T & Jaereas @ & Mg & aqare, 3= &9 Jaeqr | ‘=aq 51
qWTa® =9 8§ yaafad F2 d5d ¢ 2
(1) FART-ITeATeH

(2) HE-AFATEET

OEEIERIEED

(4) A=t JiFaeas

Options:-

.1, Option ID :- 13,
. 2, Option ID :- 14,
. 3, Option ID :- 15,

« 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15
Correct Answer :- 3 Option ID :- 15

Question ID:- 5

According to Jean Piaget, the process of continually fitting the experiences into our existing
schemas is called

(1) Assimilation
(2) Accommodation
(3) Categorisation

(4) Conceptualisation

S T9oTS 3 AGETE, THIC JISET SHET § ATl Tl A Aeqierd H 6
EIERIED) Fgl JATAT 3 |

(1) T

(2) FHTATSIH

O ERIERL

(4) FFeaT AET

Options:-




.1, Option ID :- 17,
. 2, Option ID :- 18,
. 3, Option ID :- 19,

- 4, Option ID :- 20,
Answer Given:- 1, Option ID : -17
Correct Answer :- 1 Option ID :- 17

Question ID:- 6

Which of the following theory gives significant consideration to discussions and debates in the
process of learning ?

(1) B. F. Skinner’s theory of Behaviourism

(2) Lawrence Kohlberg's theory of moral development
(3) Lev Viygotsky's Socio-cultural theory

(4) Sigmund Freud'’s theory of Psychoanalysis

fefafas & & #9-ar fagia s &t g § =37 6w a=-fFaE # 1 9g
T AT ?

(1) =1, TF. T g1 JTauTad sagears F Haid
(2) A FIgAI FIT AT (2TH 1 Hgid

(3) T AT T ATHISTH-A T q [HE T

(4) FreTee wige F1 A= seoT frgia

Options:-

.1, Option ID :- 21,
. 2, Option ID :- 22,
. 3, Option ID :- 23,

« 4, Option ID :- 24,
Answer Given:- 2, Option ID : -22
Correct Answer :- 3 Option ID :- 23

Question ID:- 7

Seeing a student struggling with a question, her teacher decides to give cues and simplify the
language of the question. In Lev Vygotsky's theory, this is referred to as

(1) Imitation
(2) Conditioning
(3) Scaffolding

(4) Assimilation




= =T i T JaTe F SEd 3EET, SO AEATRT I TAT AT 9T H
FETIATE ?

(1) T

(2) FTET
(3)TE
(4) SreTATEAT

Options:-

.1, Option ID :- 25,
. 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27
Correct Answer :- 3 Option ID :- 27

Question ID:- 8

Lawrence Kohlberg used to evaluate the moral reasoning among children and adults.
(1) hypothetical situations

(2) paper-pen test

(3) drawings

(4) report cards

AH HIAa] F T=41 U4 FAEH | AT T &7 qoaiwd & for G geanT
Frar ?

(1) afrarfee et

(2) FETH-FTH ATATIT TIEAT
(3) e

(4) FrTe =reH

Options:-

.1, Option ID :- 29,
« 2, Option ID :- 30,
. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 1, Option ID : -29
Correct Answer :- 1 Option ID :- 29

Question ID:- 9




Advocates of constructivism give importance to

(1) Child-centred curriculum
(2) Culturally non-responsive pedagogy
(3) Overlooking the individual differences

(4) Convergent ways of thinking

THATATE & THAT T AT (60 Ag=g 29 ¢ ?

(1) TTAH T arE=al T

(2) A=A ® =7 7 g foremrem=ir gfataat
(3) =TT TA=TaTell Ff AT=aT F29 0

(4) == % ATHATr G0 Al

Options:-

.1, Option ID :- 33,
. 2, Option ID :- 34,
. 3, Option ID :- 35,

. 4, Option ID :- 36,
Answer Given:- 1, Option ID : -33
Correct Answer :- 1 Option ID :- 33

Question ID:- 10

Intelligence Quotient (1Q) tests are criticised for

1) being considerate of cultural diversity.
2) conceptualising intelligence as a set of different abilities.

3) ignoring the influence of environmental factors on test performance.

(
(
(
(

4) considering social factors in measuring memory, reasoning and verbal skills.

iz =g (1IQ) Tt 1 ATr=+71 THfT T F1AT g FATH T

(1) \rERta e fAfaeaT =1 eae § 7aq 2 |

(2) Iz =1 AT~ aHare F UF 9Hg FFT F AT E |

(3) T TS UT TATELONT FEAT 6 TATF il A9-H3TS i 2 |

(4) =, T &= AIGH FAeTel 6 HIOT § TTHTG FEA] 60 AT § 73T ¢ |

Options:-
.1, Option ID :- 37,

. 2, Option ID :- 38,
. 3, Option ID :- 39,
. 4, Option ID :- 40,




Answer Given:- 2, Option ID : -38
Correct Answer :- 3 Option ID :- 39

Question ID:- 11

Which of the following statements is correct in context of language and thought ?

(1) Jean Piaget suggested that language facilitates cognition.

(2) Lev Vygotsky suggested that language has no influence on thinking.
(3) Jean Piaget suggested that thinking depends on speech.

(4) Lev Vygotsky suggested that language enables tools for thinking.

AT ST A= & d959 § Mafiad § F F19-971 7499 951 g ?

(1) st forarsr 7 wearfae BT g 15 9T 559 § |Jgras g e |

(2) 7= AT 7 TEATAT (A7 ¢ o 9rar 71 AT 9w T awE @ gt e
|

(3) St foamst 7 yearfa T Fm g B e F2ar qror 1 #raT 97 {arF7ar g
|

(4) @ AT F TEATEd PR g T arar = e Far g |

Options:-

.1, Option ID :- 41,
. 2, Option ID :- 42,
. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 4, Option ID : -44
Correct Answer :- 4 Option ID :- 44

Question ID:- 12

Gender is dominantly a/an construct.
1) bioclogical
2) social

3) medical

— o p— p— —

4) arbitrary

SET UHE BT F UH et 2 |
(1) 5=

(2) AT

(3) =

(4) A=




Options:-

.1, Option ID :- 45,
. 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 2, Option ID : -46
Correct Answer :- 2 Option ID :- 46

Question ID:- 13

Assertion (A) .
In order to cater to the needs of students belonging to diverse socio-economic backgrounds, a
teacher should adopt standardised curriculum.

Reason (R) :

Standardised curriculum takes care of all kinds of individual differences.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

FfFIT (A) :

fafag ArTTS-ATaF Tesgie a1 FE=ntai i araegsara 1 @20 949 5
forT e forersk 1 qTTHET TEEAT AT AR

& (R) :

AT IT5T=A1 T 61T 61 2 S arst &t & § T@dr ¢ |

e fare g

(1) (A) & (R) =TT AT € A7 (R), (A) #T AL =TT F3407 g

(2) (A) & (R) 2T 8T € A (R), (A) HT Hel 20021 7L g

(3) (A) 2T & @1t (R) i

(4) (A) #7 (R) =TT T €

Options:-

.1, Option ID :- 49,
. 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 4, Option ID : -52
Correct Answer :- 4 Option ID :- 52

Question ID:- 14




Formative assessment is done

(1) at the end of session.
(2) through standardised tests only.
(3) thoughout the teaching-learning process.

(4) by a special educator only.

THATHS ATHAdT

(1) &= ST § Fhar Srar 2

(2) FAe FIThIR T F qTEAH ST A S g |
(3) T AT Foreror-stfanTa wiHeaT & St BT S g )
(4) ==t we fAfene forers g AT ST )

Options:-

.1, Option ID :- 53,
. 2, Option ID :- 54,
. 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 3, Option ID : -55
Correct Answer :- 3 Option ID :- 55

Question ID:- 15

Which of the following approach is likely to promote critical thinking among students ?

(1) Asking close-ended factual gquestions
(2) Helping students develop hypothesis
(3) Encouraging convergent thinking

(4) Teaching using textbooks anly

FefafeT O T :19-9 39y F 217 @ty O gqra=areqs =a9 1 g2
T A AT E ?

(1) F=-IF AT TET AT 97 THAT

(2) ufrweaarar #1 FwtaT w2 § F=dt 1 qganr 3497

(3) ATHATI A+ F1 F21ET 347

(4) FA TETEAHT 5T TEET

Options:-

.1, Option ID :- 57,

. 2, Option ID :- 58,
. 3, Option ID :- 59,




« 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58
Correct Answer :- 2 Option ID :- 58

Question ID:- 16

For successful inclusion of students belonging to Scheduled Tribe (ST), it is important to

(1) teach in the language preferred by the dominant group.
(2) ignore their cultural knowledge and experiences.
(3) provide educational materials developed in their local language.

(4) maintain social distance between school and their community.

AT ST (ST) ¥ Genfiat ¥ aumee #T a9 aA § o
g g

(1) T9F F5E 51T THF 6T ST ATl G797 F 9817 S |

(2) I7F ATEHIAF AT AT FAST AT ATET =l ST |

(3) THHT ATAT TATHIT ATIT F S¥Te T SITers Arairat il ST FHTargr a1
|

(4) TE=ITerT & e FHATH & 1= AT 320 FH0H TEl S |

Options:-
.1, Option ID :- 61,

Al

. 2, Option ID :- 62,
. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 3, Option ID : -63
Correct Answer :- 3 Option ID :- 63

Question ID:- 17

Students with Dyslexia are likely to

1) show eagerness to write long essays.

(

(2) have advanced vocabulary.

(3) comprehend text with much ease.
(

4) be reluctant to read.




Tewert=ar & gfaa et

(1)@= TRy forae % 7T aga 3o g
(2) Tga Ao a==mEed T FT TN FIA 2
(3) TBHA-FATHIT FT AT AT | THAS 2 |
(4) T % oI =g 2T 3 |

Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68
Correct Answer :- 4 Option ID :- 68

Pl

Question ID:- 18

Which of the following becomes a barrier for inclusion of students with visual impairment ?

(1) Audio taped notes
(2) Braille books
(3) Verbal descriptions of visual aids

(4) Written or printed materials

freferfae & & fearfee F=nfS= F aure ¥ F19 UF aF I991 § 2

(1) F=re 1 T2 o=y At

(2) 7= forfa At gea

(3) F9ATHF HSTAH-TTHUT = HITd= (Ao
(4) Forfeas = g ot

Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72
Correct Answer :- 4 Option ID :- 72

Question ID:- 19




Which of the following is directly associated with ‘Attention Deficit Hyperactivity Disorder’ ?
(1) High attention span

(2) Persistent impulsivity

(3) Low activity levels

(4) Extended patience to listen

treaferfaa 5 & = ‘caremara v sfaetwaar Fwre & d@9fga g 2

(1) 3= HAATT A=TE

(2) 37 Arawmefrerar

(3) 7= =t ramsfierar
(4) 7= = o Aeatea 49

Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

« 4, Option ID :- 76,
Answer Given:- 3, Option ID : -75
Correct Answer :- 2 Option ID :- 74

Question ID:- 20

A key characteristic of 'Giftedness’ is

(1) High levels of intellectual ability
(2) Lack of creativity

(3) Impaired communication skills
(

4) Tendency to copy other’s ideas

‘gfaaTerst ==t it UF 7 fAguar g

(1) 3= w7 Y Fifg® gaar
(2) TAATEHFAT T FHT
(3) FTTET FETIT LT
(4) et 7 P A A e A
Options:-
.1, Option ID :- 77,
« 2, Option ID :- 78,
. 3, Option ID :- 79,
. 4, Option ID :- 80,




Answer Given:- 1, Option ID : -77
Correct Answer :- 1 Option ID :- 77

Question ID:- 21

Assertion (A) :

A teacher should present the contents to be taught in the form of connected and organised
manner.

Reason (R) :

Learning is a passive process.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the carrect explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

gt (A) :

=R |

7 (R) :

HiaT e it gt g )

(1) (A) 97 (R) FHT 72T £ 47 (R), (A) FT TET =047 F9a71 2
(2) (A) T (R) TAT TET 8 @ (R), (A) FT T8 AT 781
(3) (A) FET & T (R) T &

(4) (A) ST (R) 21 T &

Options:-

.1, Option ID :- 81,
. 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83
Correct Answer :- 3 Option ID :- 83

Question ID:- 22

According to contemporary theories of cognition, memory is

(1) capable of construction but incapable of interpretation
(2) capable of construction as well as interpretation
(3) capable of interpretation but not capable of construction

(4) capable of neither construction nor of interpretation




HET & HHATA (Hgial 6 Jqare, =i

(1) =i Fo & meqw @ @ 90 § 9mam 2 )
(2) F=Tor U A=A FEA FEH TAT G

(3) AF=TT F7A § TAw T T A § qmaAT g
@FT AR H AT A G AT A HawE g |

Options:-

.1, Option ID :- 85,
. 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 2, Option ID : -86
Correct Answer :- 2 Option ID :- 86

Question ID:- 23
In order to promote construction of knowledge by learners, a school should promote
pedagogies.
(1) child-centric
(2) exam-centric

(3) teacher-centric
(4) textbook-centric

forerTtie 2T 5w & T & EEn = % T, s SereT #
TorerureTeS T ITETEAT 1 SZTET 391 AT |

(1) FTA-F T

(2) TR

(3) forar-Ataa

(4) T E- A R

Options:-

.1, Option ID :- 89,
. 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 1, Option ID : -89
Correct Answer :- 1 Option ID :- 89

Question ID:- 24




Which of the following is nota part of universal design for learning guidelines ?

(1) Multiple means of engagement
(2) Multiple means of discrimination
(3) Multiple means of representation

(4) Multiple means of expression

feforfaa & 7 aftmm Rem-fzen 5 fm fiq-ar araatas afser s /e
T ?

(1) AZATRTET = Fgi=g J7em
(2) HEHTA F TEAT TF

(3) wiaf= e =gt Aree
(4) arf=nier & agfag 70+

Options:-

.1, Option ID :- 93,
. 2, Option ID :- 94,
. 3, Option ID :- 95,

. 4, Option ID :- 96,
Answer Given:- 2, Option ID : -94
Correct Answer :- 2 Option ID :- 94

Question ID:- 25

Which of the following promates problem solving ?

(1) Analogical thinking
(2) Functional fixedness
(3) Response set

(4) Convergent thinking

feforfera o & e 2T S99 FHETE A G@rEr = ST aFar g ?
(1) A= T F=aT

(2) FraTea= Fgwar

(3) wfa =Tl 1 T==7

(4) At A

Options:-

.1, Option ID :- 97,
. 2, Option ID :- 98,

. 3, Option ID :- 99,




« 4, Option ID :- 100,
Answer Given:- 1, Option ID : -97
Correct Answer :- 1 Option ID :- 97

Question ID:- 26

Assertion (A) .

Young children come to school with already developed ‘naive’ theories about their
surroundings.

Reason (R) :
Such understandings are purely irrational and should be ignored.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

FfaF77 (A) :
F=meT O § 07 g =210 § A9 G AT H 7 a9 & gl Hared JieE
B & |

& (R) :

T TR T A T TG T A § AT T AT FAT AR |
el fEheT i

(1) (A) 3T (R) ST @21 & &7 (R), (A) T A1 =AT=AT FeA1 8

(2) (A) ¥ (R) 1T 721 § AT (R), (A) F 7t =rven 728 &

(3) (A) T2 & FFT (R) T 3

(4) (A) &7 (R) =TT ITeTel &

Options:-

.1, Option ID :- 101,
. 2, Option ID :- 102,
. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 1, Option ID : -101
Correct Answer :- 3 Option ID :- 103

Question ID:- 27

Which of the following statement about emotions is nofcorrect ?

(1) Emotions influence information processing skills.

(2) Emotional development gets influenced by environmental factors.
(3) Emotions and cognition are completely independent of each other.
(4) Emotions influence motivation to learn.




AT F AT F Retatad § T F19-97 F99 921 7gl e ?

(1) ATASTE FSTT T TR HTA ATAT TAAT HT TATAT FTAT ¢ |
(2) AT AT afsfr et & TarET g g |

(3) ATAATH AT FATT AT ATA-AT H TH-FHE T F=AA ¢ |

(4) AT STRATH 3 TorT AfFerom i TATAT FAT S |

Options:-

.1, Option ID :- 105,
. 2, Option ID :- 106,
« 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107
Correct Answer :- 3 Option ID :- 107

Question ID:- 28

Which of the following is notf an example of intrinsic motivation ?
(1) Curiosity

(2) Interest

(3) Urge for clarity

(4) Striving for prize

et 9 & F9-a7 st FTTo 71 IIE0 Agi e ?

R

@)=

(3) FeeaT & form =red

(4) ToFRTE T % T, e et

Options:-

.1, Option ID :- 109,
. 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 4, Option ID : -112
Correct Answer :- 4 Option ID :- 112

Question ID:- 29




Learning is more effective if

(1) Content is related to real-life experiences.
(2) Material is too abstract and complex.

(3) Content is delivered in disconnected chunks.
(

4) Previous knowledge is not activated.

(1) AUT-== FT ATEATEF-S 4 6 AT % AT ST S |
(2) T AT AET B AN U Steed ol |

(3) ATT-a= 1 s aE T7 T THSI-ZHe ! § TETaT |7 |
(4) T ST & Hargar eriad 7 1 S0 |

Options:-

.1, Option ID :- 113,
. 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 1, Option ID : -113
Correct Answer :- 1 Option ID :- 113

Question ID:- 30

To create a conducive learning environment, a teacher should

(1) foster collaboration among students
(2) have very low expectations from students
(3) avoid giving mastery-oriented feedback

(4) not give any autonomy to students

TF AL (FHMET) H@"T T AT 4911 6 forw, e fOrE v R wwAw
ELEAUY

(1) TH=ITrE=T % == HgA [T 1 G214 3497 ATg0

(2) F=ntoe & 9g= F7 A9 TE|t Fen

(3) FRI¥A-37F T2 39 | a1 MY

(4) =t 1 e TE=Tar 981 3497 AT

Options:-

.1, Option ID :- 117,
. 2, Option ID :- 118,
. 3, Option ID :- 119,




- 4, Option ID :- 120,
Answer Given:- 1, Option ID : -117
Correct Answer :- 1 Option ID :- 117

Subject : MATH_Q31-45_P1_CTET

Question ID:- 31

1
A 168 m long rope is cut into equal pieces of length 95 m. How many such pieces of the rope

are obtained ?
(1)16
(2)17
(3)18
(4)19

168 maﬁﬁuﬁmﬁﬁsé m TS F a7 Zhel § FEr T97 | TH TR a9
T % o 2%he ITo 21 € 2
(1) 16

()17

(3)18

(4)19

Options:-

.1, Option ID :- 121,

. 2, Option ID :- 122,

. 3, Option ID :- 123,

. 4, Option ID :- 124,
Answer Given:- 3, Option ID : -123
Correct Answer :- 3 Option ID :- 123

Question ID:- 32

Obtain (K + P) from the following addition :
5843103
+26K7P92

8521095
(1) 14
(2)15
(3) 16
(4)17




Feforfes T & (K + P) 90 irforT
5843103
+26K7P92

8521095
(1) 14
(2) 15
(3) 16
(4)17

Options:-

.1, Option ID :- 125,
. 2, Option ID :- 126,
. 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 3, Option ID : -127
Correct Answer :- 3 Option ID :- 127

Question ID:- 33

The average temperature of 6 days is 32°C. If the temperature on first 5 of these days (in °C)
was 31, 31.5, 32.5, 31 and 32, then the temperature (in °C) on the sixth day was :

(1) 32

(2) 33

(3)33.5

(4) 34

o =91 =7 efwa arrEre 32°C g | 7= Z98 7 949 5 =47 %1 ar7| (°C H)
31, 31.5, 32.5, 31 &% 32 471, a1 ¥ 37 &1 19571 (°C #) =T :

(1) 32

(2) 33

(3)33.5

(4) 34

Options:-

.1, Option ID :- 129,
. 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 4, Option ID : -132
Correct Answer :- 4 Option ID :- 132

Question ID:- 34




LCM and HCF of x and y are 4 times and 2 times respectively of the HCF of 42 and 120. If xis
36, then what is the value of y 7

(13
(2)6
(3)8
412

X dIT y % LCM 79T HCF FHeT: 42 3T 120 % HCF =T 4 T[T diw 2 31 2 | 7f=
X T HTT 36 7, AT y 1 |1 F4T1 20T ?

(13

(2)6

(3)8

(4)12

Options:-

.1, Option ID :- 133,
. 2, Option ID :- 134,
. 3, Option ID :- 135,

. 4, Option ID :- 136,

Answer Given:- 3, Option ID : -135
Correct Answer :- Option ID :-
Remarks :- Marks awarded to all.

Question ID:- 35

Which of the following has the smallest value ?

(1) 3670 + 800 + 20
(2) 3955 + 601 — 80
(3) 4500 - 128 + 40
(4) 4600 - 150 - 29

feaforfaa & & T 919 a9 597 2 2
(1) 3670 + 800 + 20
(2) 3955 + 601 — 80
(3) 4500 — 128 + 40
(4) 4600 — 150 — 29

Options:-
.1, Option ID :- 137,




. 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 3, Option ID : -139
Correct Answer :- 3 Option ID :- 139

Question ID:- 36

1
Shweta cut a cake on her birthday. She gave half of the cake to her three friends, kept 2 of it

for her sister and the rest for herself. Later, two more friends came and she divided her part in
three equal pieces and they ate together.
How much part of the original cake could she eat ?

m
3

1
6

@1
8

(G
12

gAqT F AT SAeH(2T T Foh FET | THA AT F AIAT o7 qgioral 1 =4,
AT | AT AT AR F R aA G q o T | A 3 F, g
Hefordt e &1 T2 &l IA7 A9 (G5 & % & i ae1ae (eed o0 e i o
e @ |

THA ¥ e FT haeT AR =TT ?

(1) 5
)+
(3) &
4) >

Options:-

.1, Option ID :- 141,
. 2, Option ID :- 142,
. 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144
Correct Answer :- 4 Option ID :- 144

Question ID:- 37




1
25 right-angles are equal to
(1) 240°
(2) 260°
(3) 225°
(4) 245°

1 ™ N =
2- THA AFtoriey § 7 & avEy g 2

(1) 240°
(2) 260°
(3) 225°
(4) 245°

Options:-

.1, Option ID :- 145,
. 2, Option ID :- 146,
. 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147
Correct Answer :- 3 Option ID :- 147

Question ID:- 38

Which of the geometrical shapes — Equilateral triangle; Parallelogram, Rhombus, Rectangle
and Square have two lines of symmetry ?

(1) Equilateral triangle and Parallegoram
(2) Rhombus and Parallelogram

(3) Rectangle and Rhombus

(4) Sguare and Rectangle

SATHATT AR — AHATE NS, THAT A0, TAaqaW, Jaq a7 a9, § 7
e AT T =T THH TET 2 g ?

(1) FaTg Bt 747 auaT I99s

(2) FEFAS TAT AATAL LA

(3) AT TAT THATHST

(4) =TT FAT AT

Options:-
.1, Option ID :- 149,




- 2, Option ID :- 150,
. 3, Option ID :- 151,

. 4, Option ID :- 152,
Answer Given:- 3, Option ID : -151
Correct Answer :- 3 Option ID :- 151

Question ID:- 39

Which of the following statements is/are true ?
(i) Through two given points many lines can pass.
(ii) Through a given point only one line can pass.
(iii) Three collinear points cannot form a triangle.
(iv) Sum of two obtuse angles is always a reflex angle.
(1) Only (i) and (iv)
(2) Only (ii) and (iii)
(3) Only (iii) and (iv)
(4) Only (iii)

feaferfaa § & H9-97/F F99 97 28 2

(i) = R T e & g ST ge e v g1 A £ |
(i) RUgwus g & S St g Fae U <ar gt asdt g |
(i) 17 FvdT faeg v B 78 a9 g9 |

(iv) =T STE HI0TT T AR TLT WH T{qad1 B0 giar g |

(1) F3 (i) 47 (iv)
(2) 4 (ii) &7 (iii)
(3) FA (iii) T (iv)
(4) == (iii)

Options:-

.1, Option ID :- 153,

« 2, Option ID :- 154,

. 3, Option ID :- 155,

. 4, Option ID :- 156,
Answer Given:- 3, Option ID : -155
Correct Answer :- 3 Option ID :- 155

Question ID:- 40




A train started at 8:50 am. It covered a distance of 420 km with a speed of 70 km/h and a
distance of 120 km with a speed of 80 km/h. In between the journey, the train stopped at 3
stations for 5 minutes, 8 minutes and 12 minutes respectively. At what time did it reach its
destination ?

(1) 4:05 pm
(2)4:45 pm
(3)4:50 pm
(4)5:45 pm

TF YOS o 8:50 am TT F@AT AT AT | 3AF 420 km FT T 70 km/h T47
120 km T T 80 km/h Fit =TT F T Hit | T | Fg <TTel 3 M1 T7 FHHT:
5 Az, 8 Az 3 12 A9z & o =6t | @g Toet fBhad 9899 97 Ju 1d9=g
A 97 g5 AT ?

(1)4:05 pm
(2)4:45 pm
(3)4:50 pm
(4) 5:45 pm

Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
. 3, Option ID :- 159,

« 4, Option ID :- 160,
Answer Given:- 2, Option ID : -158
Correct Answer :- 2 Option ID :- 158

Question ID:- 41

Which of the following statements is correct ?

(1) 2 litres is less than 205 mL
(2) 1.69 m is equal to 1690 cm
(3) 6.25 litres is more than 6 litres 25 mL
(4)9 kg 75 gisequal to 975 g

fAeaferfera § & :i9-971 F99 T8 g ?

()2 F =z FAE 205 mL &

(2) 1.69 m FTET £ 1690 cm &
(3)6.25 eez AfAF 6 #flzr 25 mL &
(4)9kg 75 g TETE 975 g F




Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 3, Option ID : -163
Correct Answer :- 3 Option ID :- 163

Question ID:- 42
The distance between two cities on a map is 19.2 cm. If 0.5 cm on the map is equal to 3 km on
the ground, then what is the distance (in m) between the two cities 7
(1)115.2

(2) 1152

(3) 11520

(4) 115200

A== 97 37 4271 & fi7 it T 19.2 cm 2 | FF === 9T 0.5 cm GH 3
km ¥ FTTET g, AT 341 STg<0 & a4 1 321 (m ®/) = grfr ?
(1)115.2

(2) 1152

(3) 11520

(4) 115200

Options:-

.1, Option ID :- 165,
. 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 4, Option ID : -168
Correct Answer :- 4 Option ID :- 168

Question ID:- 43

What comes next is the following pattern ?
121,2Y4,3X9,4W16,

(13U 25

(2)5V 25

(3)6V 25

(4)8 U 36




et 9= § anT =71 9rT 2
121,2Y4,3X9,4W 16,

(1)5 U 25
(2)5V 25
(3)6V 25
(4)6 U 36

Options:-

.1, Option ID :- 169,
. 2, Option ID :- 170,
. 3, Option ID :- 171,

. 4, Option ID :- 172,
Answer Given:- 2, Option ID : -170
Correct Answer :- 2 Option ID :- 170

Question ID:- 44

Aditya spends his time during a day as shown below :

Sleep 7 hours
School 6 hours
Play 2 hours
Watching TV 2 hours
Others 7 hours

If this data is shown in a pie chart, what will be the difference in the central angles related to
sleep and play ?
(1) 60°
(2) 75°
(3) 80°
(4) 90°




Frfaer &= U 39 F 99T F [T T F ;AT FAr g

AT 7 ¢
T 6 =
TATT 2¥e
TV 34T 2 °e
= 7 He

Tf% =7 sfFel 1 aTe 91¢ U7 FmrEr s, a1 /9 T goa § gt 0
FOIE | e FAT 0T 2

(1) 60°
(2) 75°
(3) 80°
(4) 90°

Options:-

.1, Option ID :- 173,
. 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 2, Option ID : -174
Correct Answer :- 2 Option ID :- 174

Question ID:- 45

The temperatures of five cities on a day at 2 am and 2 pm are given below :

City Temperature at Temperature at
Z2am(in °C) 2 pm (in °C)
Chennai 214 36.3
Delhi 18.8 28.5
Kolkata 12 281
Mumbai 15.2 38
Srinagar 2.3 12
Which city shows the least rise in temperature ?
(1) Chennai
(2) Delhi
(3} Mumbai

(4) Srinagar




Tt gt & T f39 % 2 am 997 2 pm 9T 909 A= [Ruam g

TET 2am T dmaHET | 2 pm T JTTHIT
(°C %) (°C %)
ELE 21.4 36.3
s 18.9 28.5
FIAHTAT 12 28.1
T 15.2 38
ZIEEIES 23 12
o oTge % aTIeT § AAaH JiE g g 7
(1) =72
(2) et
(3) T=rg
(4) ST
Options:-

.1, Option ID :- 177,
« 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 2, Option ID : -178
Correct Answer :- 2 Option ID :- 178

Subject : MATH_Q46-60_P1_CTET
Question ID:- 46

Mathematical communication in a classroom can be enhanced by

(1) reading the chapter given in the mathematics textbook before solving questions.
(2) making children learn definition of important concepts.
(3) giving opportunities to children to express their mathematical ideas.

(4) learning about life history of different mathematicians.

T 17 HAOT =67 AT H = ETT AT ST HohAT 2 |

(1) FHET E A & UgeT T =l TSI e H =10 0 975 1 T84
(2) T==1 T Ag=aq0 ATLUTEOTS 1 TRATIT FEm

(3) F=a1 FT I IO FA=TT T ATH=TFT F2A F ATAL TI FHled
(4) TafEe witra=i & sfraw sfagm F afaers

Options:-

.1, Option ID :- 181,




. 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 3, Option ID : -183
Correct Answer :- 3 Option ID :- 183

Question ID:- 47

Identify the proper mathematical symbol for “If P then Q.
(MP=Q
(2)P=Q
Q=P
4)PeQ

‘T2 P 91 Q" To10 HER/IUgEFT Mid g f=vg &1 9g=1 Hiio |
(MP=a
2P>Q
3y Q=P
4P=Q

Options:-

.1, Option ID :- 185,
. 2, Option ID :- 186,
. 3, Option ID :- 187,

. 4, Option ID :- 188,
Answer Given:- 2, Option ID : -186
Correct Answer :- 2 Option ID :- 186

Question ID:- 48

According to National Curriculum Framework, 2005, which of the following mathematical skills
are pofinvolved in visual learning ?

(1) Data handling

(2) Representation

(3) Visualization

(4) Deductive Reasoning




TTSET OTE=EAT BT, 2005 F d9are, F=ferea § 7 fim-ar afoe e s
39 AT | A= o agie ?

(1) AFET FT Tg=I

(2) F=aor

(3) 3ot

(4) T fAa=

Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 4, Option ID : -192
Correct Answer :- 4 Option ID :- 192

Question ID:- 49

It is found that many children living in traditional occupational settings like market places,
trading zones, etc are able to do mental calculations very easily.

These skills

(1) are not suitable for formal school mathematics.

(2) can be discussed in class by teachers for introducing various strategies adopted by
different cultures in solving problems.

(3) cannot be used for the purpose of assessing a child’s level of cognition.

(4) are too ambiguous and can only be learnt by children living in such settings.

THT TTAT 74T g &g d a== Sl 6 T sAaad 99 "(Tee, =1 4, A1

SRl U Tgd 2 A HIA e T agd ArEmT | F29d 2 |

REIEK]

(1) Sirr=mieen =gt Tor % o g e € |

(2) FaaT & =97 &1 AT 2 9% § S g o iy iy aestaat
mmﬁﬂéwwmmﬁﬁmﬁ?ﬁﬁﬁzﬁﬁ]ﬁwymwa g

(3) F=4 & HATATHS TA7 & AHAT % 3297 T ITINT H 7@l @10 ST T |

(4) TET AT I & AT T FaeT Aot GoA HG TH g Al 37 THIE T ATqE<0
HIgd g |

Options:-

.1, Option ID :- 193,
. 2, Option ID :- 194,
. 3, Option ID :- 195,




. 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194
Correct Answer :- 2 Option ID :- 194

Question ID:- 50

According to National Curriculum Framework, 2005
mathematics at primary level.

(1) Logical reasoning

(2) Precision

(3) Problem-solving

(4) Visualization

a9 FH Hgoadl a4f Jrgy |
O EUEEREEEE]

(2) FEFAT

(3) TTAT-THTAT

(4) eAt=FTT

Options:-

.1, Option ID :- 197,
. 2, Option ID :- 198,
. 3, Option ID :- 199,

. 4, Option ID :- 200,
Answer Given:- 2, Option ID : -198
Correct Answer :- 2 Option ID :- 198

T TEFAT FavEr, 2005 % @ ET T qTAE = 9T A H

must be given least importance in

Question ID:- 51

relationships.

Which of the following statements is least related to Mathematical Modelling ?

(1) An application of mathematics to solve problems in everyday life.
(2) Making assumptions and approximations to simplify a problem.

(3) Identifying important quantities and using tools or representations to find their

(4) Using concrete models as teaching-learning material in mathematics classroom.




et ot 8§ & Fi9-a7 qie FEedw (@iefem) & rgaay a=5faa 2 2

(1) 9 STae 5 F9EITAl % THETT % forg T T STTET FHTAT |

(2) FHEAT o ALATHLOT 5 T AT AT AT HATRE LT FH7AT |

(3) TETATT FTHATAT HT Tg=ITH FLAT TAT S AS el FT AT e 6 o707 ATeAT
a7 =T T IIIRT FHIAT |

(4) IO T FAT F AT Tl A7 Pre-sfanTs /ey % =7 § ITART AT
|

Options:-

.1, Option ID :- 201,
« 2, Option ID :- 202,
. 3, Option ID :- 203,

. 4, Option ID :- 204,
Answer Given:- 2, Option ID : -202
Correct Answer :- 4 Option ID :- 204

Question ID:- 52

Which of the following is the most appropriate way to explain the meaning of top number and
the bottom number in a fraction to fourth grade students ?

(1) Telling them that top number is the numerator and bottom number is the denominator.

(2) Using fraction models like circular pies, rectangular strips and appropriately shading the
parts to show numerator and denominator and helping students to arrive at the definition.

(3) After defining the numerator and denominator, asking the students to identify numeratar
and denominator in various pictures.

(4) By defining that the bottom number is the total number of parts in which a shape/an object
is cut and the top number represents the parts selected out of the total number of parts.

FAT-IV F F=nfd=y £ f9= § 3u7 a2 @ S G =37 57 99
AR o FEfatad § § FE-A7 T Faas SO99T gn ?

(1) 372 T8 =TT T3 S ATAT HAT F9T AT 2 TAT 1= AT AT 2L AT 2
|

(2) = & wfo=T 9 FETERE T, AIATRE UA 6 StEd oE @ gt
T, dor AT g7 &1 =T #7, Bt Fr erarEs =1 § Eaq; afvamr
T H H=22 AT |

(3) #Har &I¥ 7 AT T Foel F Tt A9 arpat & H=rridan v aor
3T 2T AT T o [T FgA T |

(4) 7 aivatad L 0% For e fege PRt spia / awg 5 7 T 0 g A
F= ATeft "@er g q97 e Ber g9 | 5giqg o 1w g ag sue At
T 7 |




Options:-

.1, Option ID :- 205,
« 2, Option ID :- 206,
- 3, Option ID :- 207,

- 4, Option ID :- 208,
Answer Given:- 2, Option ID : -206
Correct Answer :- 2 Option ID :- 206

Question ID:- 53

Which of the following is most appropriate to introduce the concept of ‘measurement’ to
primary grade learners ?

(1) Plan activities that are based on accurate and precise measurement.
(2) Give the definition of different units of measurement.

(3) Plan activities that involve measuring real-life objects using non-standard techniques.

(4) Give various cut-outs of shapes to children and ask them to measure their sides using a
scale.

grafes w7 % foremiEat v wrow d osmamon 7 o www o o
Fefertaa § & F9-97 a9iias ST 2 ?

(1) TF THATHaTT Ao Shitory ST TReE UF Jelsh A19q I7 AT g |

(2) FTa+ ¥ B s fit giraro ST |

(3)TH ey st Fifew o\ A9F aFaiaa1 H1 STA F7
ATEATAH-S 1A = FEAT HT q797 T ST 7

(4) T=AT T ATFHIAAT 6 AT Sohe =TT AT FTIAT (FheT) FT STANT F7 Irg
T GO AT T FRT |

Options:-

.1, Option ID :- 209,
. 2, Option ID :- 210,
. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 3, Option ID : -211
Correct Answer :- 3 Option ID :- 211

Question ID:- 54

Which of the following holds true for remedial teaching in mathematics ?

(1) It helps to identify gifted children in @ mathematics class.
(2) It helps children to excel in competitive exams.
(3) It is beneficial only for children with special needs.

(4) It is done to overcome difficulties in learning mathematics.




feaforfes & & Fra-ar aftra § o=y foraor F oag § 780 g 2

(1) =g wITor T FeAT F FETFravedt =41 F IZAAA F HZAAT FLATE |

(2) Tg F=AT T ATAAETHF THATA H e T4 F9 F Agraar 747 g |
(3) T2 FA AT ArAGTFATAT AT A=A 1 % oI & ATAIIF 2 |

(4) =g T ATETH F AT ATAT FISATSAT FT TL FTA 6 (0 AT FATAT 2 |

Options:-

.1, Option ID :- 213,
. 2, Option ID :- 214,
. 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 4, Option ID : -216
Correct Answer :- 4 Option ID :- 216

Question ID:- 55

Which one of the following is the most appropriate and important feature of a mathematics
textbook at Primary level ?

(1) It should contain more problems for the students to practice.
(2) It should be colourful and designed in an attractive way.
(3) It should focus more on the theoretical concepts.

(4) It should focus more on contextual examples and activities while introducing mathematical
concepts.

B e i B R e B e o e s e 0 11O o i e e B e o e ol T

STLHRT T AL T § 2

(1) T FE=rfET 5 vy g ATesF 997 g F12 0 |

(2) Tg T S S =T F JieeTd gl Aren |

(3) g FFTIva® ATLTIINAT TT ATAF Ffvzd gl AT |

(4) T SFUTIOST AT TS AT W AHT Tg AEErAT IIeIl UH
AT U ATSF Fiesd AT TR0 |

Options:-

.1, Option ID :- 217,

. 2, Option ID :- 218,

. 3, Option ID :- 219,

. 4, Option ID :- 220,
Answer Given:- 4, Option ID : -220
Correct Answer :- 4 Option ID :- 220




Question ID:- 56

Student’s performance in a mathematics class is not evaluated in terms of
(1) Problem-Solving Ability

(2) Rote Memorizing Ability

(3) Logical Thinking Ability

(4) Visualisation Ability

Tore =t e 5 FRET et 6 earee s geathe R 9 e agie ?
(1) THEIT-HHTETT AHAT

(2) FzET e T AT

(3) ATfer e e

(4) FoATFOT SHAT

Options:-

.1, Option ID :- 221,
. 2, Option ID :- 222,
. 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- 2, Option ID : -222
Correct Answer :- 2 Option ID :- 222

Question ID:- 57

Which of the following can be considered as a higher aim of mathematics education at
elementary level according to National Curriculum Framework, 2005 ?

(1) To develop numeracy skills in children
(2) To make children experts in calculations

(3) To develop clarity of thought and logico mathematical thinking
(4) To build skills for competitive exams in future

T qT5=AT AT, 2005 F ATAT IEfas |7 97 Fufrad § § f-a1
IEF AU T2reAT 2 3= Ie9d HIAT T g ?

(1) F=AT § HeATeqF FI9eT FT FHF1 FeAT

(2) F==1 T T FT90A H & FTAT

(3) A== ¥ TITEAT TAT THIOT T (=50 =7 (57 F7AT
(4) AfEeT F TIETRTeE Tt 2 HIere FT Fam 7T

Options:-
.1, Option ID :- 225,




« 2, Option ID :- 226,
. 3, Option ID :- 227,

. 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227
Correct Answer :- 3 Option ID :- 227

Question ID:- 58
More than 50% students of a class did not learn a topic in mathematics. Which of the following
is hot an appropriate strategy to help these children in learning the topic ?

(1) Repeating the topic with different examples

(2) Engaging the children in group tasks related to the topic

(3) Asking the children to solve a large number of similar problems related to the topic

(4) Creating cooperative learning situations involving the children who have already learnt the
topic

FAT & 50% Frentd=t 7 afta & vF BT 737 a9z | et F 7 $-T,
A o afee § F==1 f qgrean F74 F I Efa/sEai ag@is ?

(1) Tor=r-Tr IIrE=on & |19 @ 1 Trgamr

(2) T w&dT aTHEE FAL § T=A1 H G T

(3) =a1 FT AferF Fw=aT § Ay Feefl TH TH H TIEATA F ZF F9A F

(4) 3 F==1 *1 T2 uger & gt ag fAua g foray g, afeafaa 2% aganft

Options:-

.1, Option ID :- 229,
. 2, Option ID :- 230,
« 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231
Correct Answer :- 3 Option ID :- 231

Question ID:- 59

According to National Curriculum Framework, 2005, which among the following is an activity
based on ‘constructivist’ classroom ?

(1) Teacher salves problem on the blackboard and students copy it.
(2) Teacher observes the group activity and facilitates the students for problem solving.

(3) Teacher asks the students to write important formulae on a chart paper and read them
daily.

(4) Teacher provides lots of homework to the students regularly.




TS AT ®94ET, 2005 F aare, et § 7 fig-a1 e vE
THATHT HAT TT ATETA g ?

(1) Trerh AT 9% T97 T Fld 2 A =2 IHh! 7ohed i 2 |

(2) Torer= 7o § T30 0 FITHATT T ATATHA FId g A AT H TG
T Tl § TIHAT TR FEd 2 |

(3) v F==t 1 Agmayl G UF A1e 907 77 forgwe gfafad 38 12 & o
FEAE |

(4) Torere Fa=n it ot Maftag =7 & a9gq 97 @ 951 F2d ¢ |

Options:-

.1, Option ID :- 233,
. 2, Option ID :- 234,
. 3, Option ID :- 235,

. 4, Option ID :- 236,
Answer Given:- 2, Option ID : -234
Correct Answer :- 2 Option ID :- 234

Question ID:- 60

Which of the following is nof related to developing the concept of a circle among primary grade
learners ?

(1) Identifying circular objects from the surroundings
(2) Drawing circles using a rope and a stick in sand
(3) Showing a model of globe in the class

(4) Tracing circles using some circular objects

Feafofea § & FF-A1 oraiis =97 F qEaasaia § 9 0 ST 6
feerre 7 deifaT qgf g 2

(1) A= T | AR TEGA BT TEATAAT
(2) ¥ | T S €L 0 AT & TG AT
(3) FT | 71 FT ATAHTT (ST

(4) T TATHTE TFGHAT F STAET ST A1 AT ATLGT FTAT

Options:-

.1, Option ID :- 237,
« 2, Option ID :- 238,
. 3, Option ID :- 239,

. 4, Option ID :- 240,
Answer Given:- 3, Option ID : -239
Correct Answer :- 3 Option ID :- 239




Subject : EVS_Q61-75_P1_CTET

Question ID:- 61
Fermentation is conversion of

(1) Sugar into alcchol
(2) Yeast into alcohol
(3) Sugar into CO:
(4) Yeast into CO,

(1) 37T T Uomigier 3 Faar &l

(2) T (f1Fz) FT Ui § TZo T

(3) 97T T CO, (FTe STeAFATEE) H F5a FiI

(4) @i (A=) F1 CO2 ( FTET STEAFEE) F T3 At

Options:-

.1, Option ID :- 241,
. 2, Option ID :- 242,
. 3, Option ID :- 243,

. 4, Option ID :- 244,
Answer Given:- 1, Option ID : -241
Correct Answer :- 1 Option ID :- 241

Question ID:- 62

Your house is located at X and the bookshop is located at Y. Although the market is just
opposite but you cannot go straight because of the busy highway having barriers in between.
So you first go 100 m due North, then cross a 50 m long Zebra Crossing which is due West

and finally reach the bookshop at Y which is 150 m due South. With respect to the bookshop at
Y, the direction of your house at X is

(1) North-East

(2) North-West
(3) South-East
(4) South-West




graaRT 97 X 97 o g & gwaiw Y o7 o 2 =i sras 97 e F 5
ATHA 2, #19 H =vd o, 9 97 T0eE @69 8, F 07 AT HT qel A7 T
2 | AT Ogel A 397 H 100 m 57 2, T 2t afe=sw o 50 m &= St wie T
UTE F7d 8 AT d=d § 50 0T H 150 m T T 4 Y 97 AT FEwaiT g
T | Y ¥ R % AT X I S0k 77 Ay fFamw g
(1) Se-gd

(2) THT-af9=g

(3) =Fermr-

(4) =fEror-afe=m

Options:-

.1, Option ID :- 245,
- 2, Option ID :- 246,
. 3, Option ID :- 247,

. 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245
Correct Answer :- 1 Option ID :- 245

Question ID:- 63
Freeplay is where children
1) can do outdoor or indoor activities

2) follow the rules of the play

3) play gender-specific games as suggested by adults
4) organise specific activities

—p— p— —

FA=ES 9 gld § gl 9=

(1) ALY AFAT AT HATFATT L TFA 3

(2) = F TRFHI F7 T FLA 2

(3) TTEAT ZTT TTg 34 uF fer-fAters aw ' §
(4) Taferee fRam=FermT o FiTd 2

Options:-
.1, Option ID :- 249,

« 2, Option ID :- 250,
. 3, Option ID :- 251,

. 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249
Correct Answer :- 1 Option ID :- 249

Question ID:- 64




Sprouting in seeds can take place in the absence of
(1) Sunlight

(2) Air

(3) Moisture

(4) Moderate temperature

fTert =1 g et srqufeafa & grasang ?

Q
(1) = =7 T=TeT

(2) =g
(3) 7T
(4) T AT

Options:-

.1, Option ID :- 253,
. 2, Option ID :- 254,
. 3, Option ID :- 255,

. 4, Option ID :- 256,
Answer Given:- 4, Option ID : -256
Correct Answer :- 1 Option ID :- 253

Question ID:- 65

A person boarded an express train on 5" September, 2022 at Bhiwandi Road Railway Station
for Nagercoil. The train departed at 21:15 hours from Bhiwandi Road and reached Nagercoil at
04:45 hours on 7" September, 2022 If the distance covered by the train is 1877 kilometres, the
average speed of the train is
(1) 60-5 km/h
(2) 59-9 km/h
(3) 59-5 km/h
(4) 39:0 km/h




e =t 5 Ay, 2022 Ft e G & o f9=92T 98 WF =T 07
T TEHAAH oA § FATE AT | Ag 24 21:15 o TEEt e 7 FoAT 747 7 A=,
2022 FT 04:45 TS ATHTET Tg=T | TTT T THT H=a<Ter § 29 g7 AT T
T 1877 TFardie g, a7 ¢ T &frad =1 g

(1) 60-5 km/h
(2) 599 km/h
(3) 59-5 km/h
(4) 59-0 km/h

Options:-

.1, Option ID :- 257,
« 2, Option ID :- 258,
. 3, Option ID :- 259,

. 4, Option ID :- 260,
Answer Given:- 3, Option ID : -259
Correct Answer :- 2 Option ID :- 258

Question ID:- 66

Pasteurized milk is heated to about then suddenly chilled & stored.

(1) 100°C for 15 minutes

(2) 100°C for 3 minutes

(3) 70°C for & minutes

(4) 70°C for 15 to 30 seconds

TR S8 Fl T % T4 T s g, 6 a=s oy S5 w1
deTeor FaT STar g |

(1) 15 o= ¥ R 100° #.

(2) 3 faee & frw 100° &

(3)5 e ¥ frm 70° &

(4) 15 7 30 #=ve ¥ form 70° 7.

Options:-

.1, Option ID :- 261,
. 2, Option ID :- 262,
. 3, Option ID :- 263,

. 4, Option ID :- 264,
Answer Given:- 4, Option ID : -264
Correct Answer :- 4 Option ID :- 264

Question ID:- 67




Based on the physical charateristics, Pumpkin plant can be classified as a
(1) Climber

(2) Shrub

(3) Creeper

(4) Herb

AT fereraanail & smame 9% Fgg % 9 F7 B a9ftsa B s awar g ?
(1) ATTET &A1

(2) =Tt

(3) A=Y &=

(4) 9T

Options:-

.1, Option ID :- 265,

« 2, Option ID :- 266,

. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 3, Option ID : -267
Correct Answer :- 3 Option ID :- 267

Question ID:- 68

Reading by touching and feeling with fingers is used by people who are unable to
(1) hear

(2) talk

(3) touch

(4) see

ST 55 T TA AGHH Bk TRl il (AT T TN I @00 ST (61 ST 2
T

(1) T 7T &

(2) T 7Y T

(3) 3 &

(4) 57 TG AT

Options:-

.1, Option ID :- 269,

. 2, Option ID :- 270,

. 3, Option ID :- 271,




. 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272
Correct Answer :- 4 Option ID :- 272

Question ID:- 69

The process of cooling due to evaporation is slow when the area of the water surface in
contact with the atmosphere

(1) increases and the atmospheric temperature is high.
(2) increases and the atmospheric temperature is low.
(3) decreases and the atmospheric temperature is high.

(4) decreases and the atmospheric temperature is low.

ATSTH & HTEOT fraers T Tinar T =T 2l § T AHAET § 7 % A T3
T SR

(1) 3T & S ALLAISH LT 7T 55 G |
(2) F2AT g ST ATHIEHA (F 77T (9= grar 2 |
(3) WedT g AT ATGHIEA T 19 3= gram g |
(4) =241 g 7 ArgHTEHS g a1y {2 E |

Options:-
.1, Option ID :- 273,

. 2, Option ID :- 274,
. 3, Option ID :- 275,

. 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274
Correct Answer :- 4 Option ID :- 276

Question ID:- 70

The lively dance form of Bundelkhand region is
(1) Swang

(2) Matki

(3) Bhagoria

(4) Lavani

Serae der AT e et
(1) =TT

(2) Tzt

(3) wTTTYT

(4) T




Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
« 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 4, Option ID : -280
Correct Answer :- 1 Option ID :- 277

Question ID:- 71

In case of plants, identify the correct option.

A. Plants prevent soil erosion.

B. Dead and dried leaves are used to make fertilizers and pesticides.
C. Animals provide shelter for plants.

D. Plants provide us seeds some of which can be eaten.

(1)Aand B
(2)Band C
(3)CandD
(4)Aand D

Tl % R F, AT e #1 ug=e At |

A. TTE ETOT T T 2

B. 99 A T Tt SATF T HlEATer® AT & (o0 S gl g |
C. W[, TTET T AT T2 F4d 2 |

D. o1& 28 =i 73 F7d g 5+ 7 T@ 91 S 7T ¢

(1) AF4TB
(2)BF4TC
(3)CFITD
(4) AFIT D

Options:-

.1, Option ID :- 281,
. 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 4, Option ID : -284
Correct Answer :- 4 Option ID :- 284

Question ID:- 72




Parts of plants and their roles are mentioned below. The most appropriate statement is
(1) Roots connect the plant to the leaves.

(2) Fruits help in pollination.

(3) Flowers are the reproductive parts of the plant.

(4) Leaves support the upper part of the plant.

TTET W AT 3 HAT (ST F A AATAT AT | FAH ITLFT HAA
2

(1) ST et T T 7 SrEar g |

(2) T TR F FHETAAT F9 ¢ |

(3) T I F TS AT 20 2 |

(4) T ITE F FILT AT FHT AL 34 2 |

Options:-

.1, Option ID :- 285,
. 2, Option ID :- 286,
. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 3, Option ID : -287
Correct Answer :- 3 Option ID :- 287

Question ID:- 73

Select from the following a pair of Union Territories of India :

(1) Mizoram and Lakshdweep
(2) Jharkhand and Chhattisgarh
(3) Ladakh and Puducherry

(

4) Jammu and Kashmir and Nagaland

fAeAferfas § & 93 F 99 9T 2900 1 [ M0
(1) s o g

(2) ATTETE TGS

(3) M=TE AT g

(4) STF ST FHHIT AT AWTATE

Options:-

.1, Option ID :- 289,

. 2, Option ID :- 290,
. 3, Option ID :- 291,




- 4, Option ID :- 292,
Answer Given:- 3, Option ID : -291
Correct Answer :- 3 Option ID :- 291

Question ID:- 74

In a cultural festival, Shruti wore a traditional saree/dress of Maharashtra known as

(1) Banarasi
(2) Nauvari
(3) Kalamkari
(4) Jamdani

TF HiERO® 39T H, g0 T dgnre f UF qreeaten qreiararn agar 4
(EEEARCIE N

(1) ATt
(2) AT
(3) T
(4) STTHETAT

Options:-

.1, Option ID :- 293,
. 2, Option ID :- 294,
. 3, Option ID :- 295,

. 4, Option ID :- 296,
Answer Given:- 4, Option ID : -296
Correct Answer :- 2 Option ID :- 294

Question ID:- 75

As per ‘The Prohibition of Child Marriage Act, 2006’ minimum age for marriage in India is

(1) 18 years for boys and 18 years for girls
(2) 18 years for girls and 21 years for boys
(3) 21 years for boys and 21 years for girls
(4) 21 years for girls and 25 years for boys

‘Fra-tAaTg Moy afaf=aw, 2006° F A7E 9 ¥ @ fT gaaq Ay g
(1) AT & T 18 FT TAT AS T = forg 18 79
(2) AETHAT & T 18 T F9T ASHI o To17 21 79
(3) @EHT & forw 21 T For @i & forw 21 a9
(4) et * form 21 &9 g7 @1 & o 25 79




Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
. 3, Option ID :- 299,

- 4, Option ID :- 300,
Answer Given:- 2, Option ID : -298
Correct Answer :- 2 Option ID :- 298

Subject : EVS_Q76-90_P1_CTET

Question ID:- 76

Madhu studying in class Ill identifies Rose and Tulsi plants planted at his home. Which of the
following processes are involved in the identification of plants ?

A. Observation

B. Comparison

C. Prediction

D. Decision-making

(1)A and B
(2)BandC
(3)C and D
(4)D and A

FAT-I| 7 T AT T AT T A AT AT AT F T AT TEAAT
et £ g F FrAfoae & & A=A g ot 2 2

A. ST

B. e

C. aHT

D. v

(1) A B
(2)B&#C
(3)C#T D
(4)D 37 A

Options:-

.1, Option ID :- 301,
. 2, Option ID :- 302,
. 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- 1, Option ID : -301
Correct Answer :- 1 Option ID :- 301

Question ID:- 77




In the teaching-learning of EVS, objective of conducting Nature Walk is

(1) to highlight flora and fauna and develop emotional bonding with nature
(2) to conduct a virtual tour of nature

(3)to walk in a park and ensure fitness of learners

(4) to engage learners in gardening and develop a kitchen garden

AT e o farerr-arfeer # wpty 1 &7 q=em e wegew g

(1) AT ST TF A0S 97 F9OT g7 AT AT THid F a1 GrEdre T
HeE T A AT

(2) T T T ATATHT ATAT FEAT
(3) TF T H Y FAAT A FHHAT FT aegeedt graread Hmer
(4) F=nToeT &7 ST § =06 79T A7 UF T80 o= (e g HeAr

Options:-

.1, Option ID :- 305,
. 2, Option ID :- 306,
. 3, Option ID :- 307,

. 4, Option ID :- 308,
Answer Given:- 4, Option ID : -308
Correct Answer :- 1 Option ID :- 305

Question ID:- 78

Rezi says that she can not become a truck driver like her father. She has to look after

household and children like her mother. Which of the following method will be most useful to
address this gender related concept in class ?

(1) Group Discussion
(2) Movie demonstration
(3) Role play

(4) Play




ST FEAT g 6 a8 e fUar it 998 2% gAY 7E a9 'FAT | I AuAr |/t
g T HATAAT § AT F=41 A1 3G9 FA71 g | Fefotad § § Fra-47
e, weam § Sev daE, T ATETo At AT FIA o AAEw STAET LA

?

(1) g ==
(2) T W=

(3) fwa =g
(4) &

Options:-

.1, Option ID :- 309,
. 2, Option ID :- 310,
. 3, Option ID :- 311,

. 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311
Correct Answer :- 1 Option ID :- 309

Question ID:- 79

While teaching EVS to primary school children you happen to come across certain children
who live in single-parent families. What would be your response to such a situation ?

(1) Ignore these children and focus on the theme ‘family and relationships’.
(2) Sympathise with these children and ask them to explain the term ‘family’.
(3) Highlight difficulties faced by children in such families and focus on the topic.

(4) Incorporate the context of such children and build a culture of empathy.

yTafie fAsmes F a==t Ft gaa deaa o A 79 gu, aram 9

T T=4 UHA ATTHHH TATT § T2d & | 39 TR § aroht F=r giHtmar

T ?

(1) = T==1 it FFgAT F2 A FOT ‘qi=w §i7 G940 77 W T T2

(2) 7 T==1 7 AT T2 &7 3= aRA 0% "a9AE F oo w2 )

(3) T oAl § F==1 T TTHAT 61 T2 Feareat 77 = g9 3 &7 FBo
T EATH Shiad &2 |

(4) TF F==1 F1 J2d "fEaferd w7 @ g i v depia wr A E

Options:-

.1, Option ID :- 313,

. 2, Option ID :- 314,

. 3, Option ID :- 315,
. 4, Option ID :- 316,




Answer Given:- 3, Option ID : -315
Correct Answer :- 4 Option ID :- 316

Question ID:- 80

Rupal, a class V student, tells her teacher that when her younger sister cries, her grandmother

says to her to stop crying otherwise an old man sitting on the moon will take her away. What
will you do if you are Rupal's teacher ?

(1) Talk to Rupal's grandmother and farbid her from saying so.
(2) Talk to Rupal and explain that her grandmother is lying.

(3) Explain to Rupal about the moon and show that no such old man is there.

(4) Ask Rupal to collect information and verify this fact.

=9, FAT V N FrEAv g, 78 FU 191w T Fardr g B o 3w g a5+ aar
¢ A1 STET 30T Fgdl ¢ & T g7 ST 20 a1, F3 T2 33T GET q1a7 IH o ST |
I T =0 = {908 g, |7 0T 4T H ?

(1) =T T ZTT T AT F4ah Svg THT Fged T HAT F497 |

(2) =T | 979 FLah THATH fFH IRTAZ FE 18 |

(3) TTA FT A(Z & AT | FATUI 3 TAT Hre F19T A1 721 ¢ |
(4) =T | Fgdl 1% I TFAT T Toherd FT 36 T2 HiY T H7 |

Options:-

.1, Option ID :- 317,
. 2, Option ID :- 318,
. 3, Option ID :- 319,

- 4, Option ID :- 320,
Answer Given:- 3, Option ID : -319
Correct Answer :- 4 Option ID :- 320

Question ID:- 81

In class-l, as a teacher, you are expected to familiarise learners with the 'senses’. You will
(1) ask learners to read about the topic and come prepared for the class.

(2) ask learners to write about senses in their own words.

(3) use concrete material to depict the function of each sense.

(4) use role-play to transact the function of each sense.




HeAT-| F, 1ot o =7 & e en g 5 ey FHerfy i st & afi=e
FATY | AT

(1) Bt =1 F9T & 939 § 98+ % o o 39090 5 919 F97 § a7 & oy
Fedl |

(2) A=t =1 3 A9 9==1 § Ariesat & fBAug § fora & o g1 |

(3) Te HAEAT &1 H == F99 % 0 qF T=0T FT U w4 |

(4) ToIF HAZAT FT HTT TR T2 & (o] GInT-Taga &7 STTRT F:97 |

Options:-

.1, Option ID :- 321,
. 2, Option ID :- 322,
. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 4, Option ID : -324
Correct Answer :- 3 Option ID :- 323

Question ID:- 82
Which of the following statements is the most suitable explanation of the nature of EVS ?

(1) Adjustment between human behaviour & ecosystem
(2) Education from primary to secondary education
(3) A life-long continuous learning process about environment

(4) Understanding and information about environment

fAeaforfea § & FU9-97 F47 TAE FEAA it T 6 qA 8w I AT
B P

(1) ATE =HEETE AT LT 9 § GHS

(2) FTATHE o ATeAHE v a9 i forer

(3) TATA 3 AT F AT T ATt AteEry g

(4) TATATOT F ATE F THA AT AR

Options:-

.1, Option ID :- 325,
. 2, Option ID :- 326,
. 3, Option ID :- 327,

. 4, Option ID :- 328,
Answer Given:- 1, Option ID : -325
Correct Answer :- 3 Option ID :- 327

Question ID:- 83




In class Il, as an EVS teacher you have to transact 'Transport’ topic in theme travel to the
students, thus you will

(1) ask students to read about it and make notes.
(2) show them a computer presentation on importance of transport.
(3) use information and communication tools and draw conclusions from their experiences.

(4) Read newspaper articles to decipher uses of transport.

FeT || T, UF T AAAT e F ®F H, A0H1 Ftaay w5 ar=En ofg T
(1) BTt #1 2H% 529 § 98T 67 e 9 6 o Fig T

(2) ufag & dg=a U7 Irg, UF FFes Teqd (207 (2arui |

(3) FAAT UA TETI AT T ITART oA AT I AAAT 7 T e |
(4) afvaga & T w1 o e % o ATl & o e |

Options:-

.1, Option ID :- 329,
. 2, Option ID :- 330,
. 3, Option ID :- 331,

« 4, Option ID :- 332,
Answer Given:- 3, Option ID : -331
Correct Answer :- 3 Option ID :- 331

Question ID:- 84

Which of the following statements best exhibits the nature of EVS ?

(1) EVS is not a separate subject in itself.
(2) EVS is preparation of (Science and Social Science) subjects of upper primary classes.
(3) EVS is awareness and sensitivity about environment and environmental problems.

(4) EVS is the efficiency of removing environmental problems.

T AL i T A FReietE § 7 #9109 qmay  me § 915ty

FATE ?

(1) TATATIT AEATF FOA AT F FT5 AT [@A0T T2 2 |
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TH AAT |
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Options:-

.1, Option ID :- 333,
. 2, Option ID :- 334,
. 3, Option ID :- 335,

- 4, Option ID :- 336,
Answer Given:- 3, Option ID : -335
Correct Answer :- 3 Option ID :- 335

Question ID:- 85

Which of the following activities are appropriate for transacting ‘here comes a letter’ to the
students of class Ill ?

A. Read chapter on ‘communication’ and do related
exercises.

B. Ask students to collate information and then write in their
own words.

O

. Prepare students for letter-writing to their grandparents.

D. Plan a visit to the local post office to experience the
work of a postman.

(1)Aand B
(2)BandC
(3)Aand D
(4)CandD

FaT |1l % =t v wwoor “Fgr arg 2, F fomw & g, Feafefea g 8

FI-H THFATFATT 39 g ?

A. THTT FT IT5 TIET AT FaTed T fie |

B. fe=rmiiat =1, #=T T Sighe T IRl #U greai | forae &
ferm e |

C. FA=nT&=T #T 37 STET-ITa1 F1 T foraq F forr 9am £ |

D. =TT & 1 FT ST F79 F [0 UF ST STHIy T 61
ATSAT FATET |

(1)A#TB

(2)B &= C

(3) A& D

(4)C @ D

Options:-

.1, Option ID :- 337,
. 2, Option ID :- 338,
. 3, Option ID :- 339,




- 4, Option ID :- 340,
Answer Given:- 4, Option ID : -340
Correct Answer :- 4 Option ID :- 340

Question ID:- 86

Which of the following statements are true in the context of EVS learning of children ?
A. Children are actively connected to the world around them.
B. Children coming from different backgrounds have similar contextual experiences.
C. Diversity makes the teaching-learning process challenging.
D. Diversity is an important resource in teaching-learning process.
(1)A,BandC
(2JA,CandD
(3)B,CandD
(4)A,BandD

eforfeT § F F0-9 F99 T30 & =00 A7 HET & 059 § 777 2 2
A. T4 HI AEITH T AT T HiHT T H 5 T@q 3 |

B. HAT-ANT TESIIH F AT F==A1 & T A9 AqHT 219 2 |

C. AfEreaT Hraa-fFmam Fit wfwar Fir Fara ot a7 2 |

D. AfErgar Sraa-fEam i 7T § Ag o 99T 2 |

(1)A, Bz C
(2)A, C &7 D
(3)B, C &= D
(4)A, BT D

Options:-

.1, Option ID :- 341,
. 2, Option ID :- 342,
. 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 2, Option ID : -342
Correct Answer :- 2 Option ID :- 342

Question ID:- 87

In order to introduce the topic ‘Birds’ to the students of class [V, which one of the following
would you prefer ?

(1) Provide models of birds along with their names te your students for them to memorise.

(2) Ask students to write about ‘Birds’ in their own words.

(3) Use nature walk to identify local birds, their habits and habiats.

(4) Show a video on birds followed by digital presentation.
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Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347
Correct Answer :- 3 Option ID :- 347

Question ID:- 88

Vani said, “Mango tree is like an open umbrella.” Which processes have been used by Vani in
this statement ?

A. Observation
B. Comparison
C. Decision-making

D. Imagination

(1)A,Band C
(2)B, C and D
(3)A, C and D
(4)A, B and D




AT W T, A T TE G FALE ST g 1 T FAT F A FTE G i
=T 9T AT A g 2

A
B. daHAT
C

D. &Feg=T

(1)A, B&#=C
(2)B, C 37D
(3)A, C &7 D
(4)A, B#TD

Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
« 3, Option ID :- 351,

. 4, Option ID :- 352,
Answer Given:- 4, Option ID : -352
Correct Answer :- 4 Option ID :- 352

Question ID:- 89

During the transaction of class Il topic on 'Water’ students shared instances of people being
refused to drink water from common resources like wells, ponds, etc. How would you deal with
such a situation ?

A. Ask students to not get distracted and focus on the topic.

B. Ask students to not share such situations in class.

C. Ask them to share experiences and emphasise the values of
equality.

D. Ask them to share experiences and write an essay on ‘water
conservation’

(1)BandC

(2)A,BandD

(3)A,CandD

(4)Only D




HeAT || § fHeer ‘St =1 foreror *Tq g, @E=nte & Ta 3o St |/reAT B
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|

(1)B&#=zC
(2)A, B D
(3)A, C#TD
(4)%37 D

Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
. 3, Option ID :- 355,

- 4, Option ID :- 356,
Answer Given:- 4, Option ID : -356
Correct Answer :- 3 Option ID :- 355

Question ID:- 90

Which of the following objectives is the most important for EVS subject ?

1) Development of understanding of subject concepts
2) Development of understanding of practical activity

3) Development of abilities of observation, enquiry, logic and conclusion

(
(
(
(

4) Development of ability to decide right and wrong on the basis of conscience

AT FeAae Ao 2 MeAforiad § § fid-a71 3297 Aaties ageaqu g ?
(1) o dEeSr # a7 w7 G

(2) st wiatater i g F=1 FEe

(3) ATA A, TSI, T 7 =T ¥ 77Tt 7 =y

(4) T2=F & ATeTT UL HEl oA 9T FA A AHAT HT A

Options:-

.1, Option ID :- 357,
. 2, Option ID :- 358,




. 3, Option ID :- 359,

. 4, Option ID :- 360,
Answer Given:- 3, Option ID : -359
Correct Answer :- 3 Option ID :- 359

Subject : 0dia_Q91-99_L1_P1_CTET

Question ID:- 391

P6ad : 79 296806 QI0RE G4 A°6H | A8K AT @8 |

gae @2l AIFGY QG190 F197Q QAR AT 6F | AFIY F19FQ 48AIQ 2R &Y
caIRaN, @g AIgAIA 6 AIPAITIR ATN R[SV FIGFS JUE A8F | 6xQ
ARGl G 2AEACIEH 90I6Q AT Q0TS 62IRAF ? FIG! goqgR Qg FrI6a
a8 981 QIRIVIEE AL AR6R IR QT QIR ATTT 620U ? 6RQ AR 98
ARG 60IR QIR QGUE ? a9 JICIF 6010R, IRa 99 6wId RS, AR
218 Q17 218 | 9218 @8QIq FER 691G AIQ QIR 65109 AAQIA ARANER 2T
Qél 2F ? @8 9T 299 U6 AR AT 64 AL VO0IEQ IQG 621RUT, AR
60AR ATIQ ARTE 6QIg | ATFY ERAR WA GNF-0F Q6w TSR
JASICINS AR AT 692 AVF QAUT QYT CIT 6RAR ATMNA IV | A6TG
@R, Q1998, VA, KGRI, IRAUF ARG YIYRAUER ALY I9F 6QIg, AN
A6 QR | RIBAYQ, 6QIEIQ AT ARA FRAINSY AFFE 99 60 AQR I
QARG IR | g 62T ALUIEA 6949 HUIATINF JLUQAAIIFA QIAY 6L | GILl 64
21y 616 T6Qdle ST 218 90I6a GCld QA8E GIRIa @ gaIs a8 ? eaIa
QAQ-UAALR AIFY QIR TRS IAISIYQT SAIANIF | 9@ VATYE AU
A6 ARAIFFA %A AR QAR [FI AN, VLI Y@ ARE AT AFl FAAIG AN
62Q | AR RIFIY FIFEQ AR AR &G AL, &6 9] |

AIFRITI B AIGRATIS AT QLR JAUS VG ?

(1) SIR1IRQ
(2) RISINRIRE
(3) AYRLIRR
(4) RYFDRIFR

Options:-

.1, Option ID :- 1561,
. 2, Option ID :- 1562,
. 3, Option ID :- 1563,

. 4, Option ID :- 1564,
Answer Given:- 2, Option ID : -1562
Correct Answer :- 2 Option ID :- 1562

Question ID:- 392




F6ad : 79 296806 QI0RE G A°6 | A8K AT @8 |

gae @all ALY KG9 F1676 QUIF ARG 6F | FISIY F1ISFR 48Q A &Y
cQIRAN, @g AIGAA 8 APANIA ATN FGIY FISFA JUE VR | 689
2RGETIAI 2G 2EACUEH 90I6Q 2AId AUTS 621RAF ? FIF) goq9R Qg frI6a
9% 981 Q@RIAFIET AL AREA 9@ AT (AR UGTE 620UER ? 609 AR 9
NIRRT 60IR QIF AGYE ? eR9 JICIF 6019Q, IRQ 99 6wId JIR2ST; @R
218 Q17 218 | 918 @21 GER 691G AT 6QIR 69109 AN ARANFR AT
Qél 218 ? @8 T PLqe USA6A IR AT 64 U6AANR JO0I6a IRQ 621a2g, ALl
60eR AT ZEd 6QIg | AT 6RAR QEAIRR W9 96 JOIR
JASIAING AEF ARG 609 ARF AT QYT G171 6RAR ATMA NG | A6TG
@°Q, Q16QS, ARAGY, ORI, AFAIT AME YIYRSAIE AT 97 641G, AN
A6Er QR | RREAEQ, 6RIGIR RNIT ARA FBAITFY UFTC 24 64 Q@R 6
ARe gl | @9 622 ATUER 6999 HUIANINF JRIRAAITFA QIKY 62 | QITl 64
PGy 6a16d T6Q4Ie FIT 218 90I6a GCld QAgE IRIa @ gald &8 ? saIa
QAA-ZUAANNT ATGY QA GRS FAUSYQT AR | 9L QTS AUAANSS
AEF AFARFA A AR KA AP AN, IR IR ARG AL QLI RAAIY ANE
62Q | AGNQ RIGIY FIQAFEQ AT AR &S A, &6 A |

g’ - 990 22 '8 ?
(1) agaQ
(2)aQ
(3) @@
(4) QGr
Options:-
.1, Option ID :- 1565,
. 2, Option ID :- 1566,
. 3, Option ID :- 1567,

« 4, Option ID :- 1568,
Answer Given:- 3, Option ID : -1567
Correct Answer :- 3 Option ID :- 1567

Question ID:- 393




F6ad : 79 296806 QI0RE G A°6 | A8K AT @8 |

gae @all ALY KG9 F1676 QUIF ARG 6F | FISIY F1I8FQ 48QQ 26aa 2Y
cQIRAN, @g AIGAA 8 APANIA ATN FGIY FISFA JUE VR | 689
2RGETIAI 2G 2EACUEH 90I6Q 2AId AUTS 621RAF ? FIF) goq9R Qg frI6a
0% 981 AARANEE AL AREA IR QIT 6AR UG 6292UET ? 66X AR o)
NIRRT 60IR QIF AGYE ? eR9 JICIF 6019Q, IRQ 99 6wId JIR2ST; @R
218 Q17 219 | Q218 A2AIF TR 69T AT 6QIR 65189 AR ARAIGFA 2T
Qél 2F ? @8 IT YLRe UG I8 UG 64 AUCACUER Y0I6a IQe 621088, GIel
60eR AT ZEd 6QIg | AT 6RAR QEAIRR W9 96 JOIR
JASIAING AEF ARG 609 ARF AT QYT G171 6RAR ATMA NG | A6TG
@°Q, Q19qS, ARAGY, ORI, ARAIT AME YIYRSAE AT 97 61, A
A6Er QR | RREAEQ, 6RIGIR RNIT ARA FBAITFY UFTC 24 64 Q@R 6
ARC Iml | @ 682 ALUEA 6999 UANRF JRIRIANTFA QIAY 6% | GIFI 64
PGy 6a16d T6Q4Ie FIT 218 90I6a GCld QAgE IRIa @ gald &8 ? saIa
QAA-ZUAANNT ATGY QA GRS FAUSYQT AR | 9L QTS AUAANSS
A6GF AIRNFTFQ Aft@ A QAQUQ QG &N, SRl I ARG AT QY KA A
62Q | AINQ RIGIY FIAFEQ AT AR &S 2L, &6 A3 |

@9 ZIRANGT NRE FARE ?

(1) AVIVFISR

(2) 2RR4YQ

(3) AT 2SS
(4) 9916910

Options:-

.1, Option ID :- 1569,
. 2, Option ID :- 1570,
. 3, Option ID :- 1571,

« 4, Option ID :- 1572,
Answer Given:- 3, Option ID : -1571
Correct Answer :- 3 Option ID :- 1571

Question ID:- 394




P6ad : 07 296806 QI0RE G A°6H | ARK AT @8 |

gae @ell ALY KG9 F1656 QUIF ARG 6F | ISIY F1I9FQ 98QIQ 26aa &Y
6QIREN, @F AIGRAIT G AIPNINI AT FGIY KNG UL QRF | 689
PIREEFIRN AIF 2CANI6E Y0I6Q 21T Q9de 621RAY ? QNI JOGR AW FrIEA
a8 981 QARIACIEE QL AREA IR [T QIR ATTT 62U ? 60Q AR 98
2AAAAG 169RIR QT QAT ? A@RQ IFIF 6010, FRQ A9 eI URUT; AaR
218 Q17 218 | 9218 @8I FER 691G AT QIR 65109 AAQIA ARAINFR 2T
Qél g ? §g IT YIRS USAUER I\ AR 64 AUCACUER V0I6a IRE 6212e, Gl
609R AT ARdd 6Qlg | AT 6RAR QARG ARF-9G 96 OIR
JREAIRE A6E 2IFAING 699 A9F QIF AY2T Q12 6RAR ATNA INR | Q6T
@°Q, Q199S, ARAGY, FRERIY, ARAIF AME YIYASAIER AT 9T 6QIY, A
A6er Af | RI6RYQ, 6QIGIQ AT IRA FRAIFFY UGTE 29 64 APR T6Q
ARC Iml | @ 682 ALUEA 6999 UIANRF JRIRIANITFA QIAY 6% | GIFI 64
Iy 6QlET G6Q4IC QI 21T Yolea FFd @8R GIRIQ & gaId 88 ? &ala
QAA-ZUAANIT AIGY QLA RS FAUEIQT TR | FIQ VTS SAUAANTF
ACF AR A% QF RAAIQ BFI AN, VIR NG ARE ALY QB FAAIG AN
629 | ZNQ RIFIY FIIFEQ AT AR AR 2L, & 9] |

AITNQ AF FILALQ AUAAFT QIF AGAUT ?

(1) gI91e RECIR ATE

(2) 9918 AT ALR
(3) 991 /1R AgQ

(4) YI91R QErIeE A8Q

Options:-

.1, Option ID :- 1573,
« 2, Option ID :- 1574,
. 3, Option ID :- 1575,

. 4, Option ID :- 1576,
Answer Given:- 4, Option ID : -1576
Correct Answer :- 4 Option ID :- 1576

Question ID:- 395




F6ad : 79 296806 QI0RE G A°6 | A8K AT @8 |

gae @ell ALY KG9 F1656 QUIF ARG 6F | ISIY F1I9FQ 98QIQ 26aa &Y
6QIREN, @F AIGRAIT G AIPNINI AT FGIY KNG UL QRF | 689
PIRESFIRN 2IE 2UCACI6E Y0I6Q 21T Qade 621RAY ? QNI YOG AW CrIEA
a8 981 QARIACIEE QI AR6A IR QIF QIR ATTT 62AUET ? 60Q AR A
ARG 169RIR QT QAT ? A@RQ IFIR 6010, FRQ A9 eI ARUT; e
218 Q17 218 | 9218 @8I FER 691G AT QIR 65109 AAQIA ARAINFR 2T
Qél g ? §g IT YIRS USAUER I\ AR 64 AUCACUER V0I6a IRE 6212e, Gl
609R AT ARdd 6Qlg | AT 6RAR QEMIRA ARF-9G 96L YOIR
JREAIRE A6E 2IFAING 699 A9F QIF AY2T Q12 6RAR ATNA INR | Q6T
@R, G1998, VA, KGRI, IRAUF NG YIYRTAUER AL I9F 6QIg, AN
a6er Af | RAERYQ, 6RIGIQ AAMIQ IRA FRAIFFR UFTE 29 64 APR 6]
ARC Iml | @ 682 ALUEA 6999 UIANRF JRIRIANITFA QIAY 6% | GIFI 64
Iy 6QlET G6Q4IC QI 21T Yolea FFd @8R GIRIQ & gaId 88 ? &ala
QAA-ZUAANIT AIGY QLA RS FAUGIQT IR | I VTS SAUAANNF
ACT ARAIFFA AMA Af RAAIQ BFI AN, VIR NG ARE ALY QB FAAIG AN
629 | ZINQ RIFIY RIIFEQ AT AR &R A, &6 9FQ |

QQ6549Q, 6QIGINA F1RQ V& AFAIS SR ?
(1) @@% 964 Q1% awl

(2) 99geEsd 339 gRIIEER

(3) 91 2FQ [192AHE

(4) 2919915 2I0Q F3E AR

Options:-

.1, Option ID :- 1577,
« 2, Option ID :- 1578,
. 3, Option ID :- 1579,

. 4, Option ID :- 1580,
Answer Given:- 1, Option ID : -1577
Correct Answer :- 1 Option ID :- 1577

Question ID:- 396




F6ad : 79 296806 QI0RE G A°6 | A8K AT @8 |

gae @all ALY KG9 F1676 QUIF ARG 6F | FISIY F1ISFR 48Q A &Y
cQIRAN, @g AIGAA 8 APANIA ATN FGIY FISFA JUE VR | 689
2RGETIAI 2G 2EACUEH 90I6Q 2AId AUTS 621RAF ? FIF) goq9R Qg frI6a
9% 981 Q@RIAFIET AL AREA 9@ AT (AR UGTE 620UER ? 609 AR 9
NIRRT 60IR QIF AGYE ? eR9 JICIF 6019Q, IRQ 99 6wId JIR2ST; @R
218 Q17 218 | 918 @21 GER 691G AT 6QIR 69109 AN ARANFR AT
Qél 218 ? @8 T PLqe USA6A IR AT 64 U6AANR JO0I6a IRQ 621a2g, ALl
60eR AT ZEd 6QIg | AT 6RAR QEAIRR W9 96 JOIR
JASIAING AEF ARG 609 ARF AT QYT G171 6RAR ATMA NG | A6TG
@°Q, Q16QS, ARAGY, ORI, AFAIT AME YIYRSAIE AT 97 641G, AN
A6Er QR | RREAEQ, 6RIGIR RNIT ARA FBAITFY UFTC 24 64 Q@R 6
ARe gl | @9 622 ATUER 6999 HUIANINF JRIRAAITFA QIKY 62 | QITl 64
PGy 6a16d T6Q4Ie FIT 218 90I6a GCld QAgE IRIa @ gald &8 ? saIa
QAA-ZUAANNT ATGY QA GRS FAUSYQT AR | 9L QTS AUAANSS
AEF AFARFA A AR KA AP AN, IR IR ARG AL QLI RAAIY ANE
62Q | AGNQ RIGIY FIQAFEQ AT AR &S A, &6 A |

YORR-6Q 689 QAT A°YW ?

(Mg

(2) g%

(3) 2%

(4) 9l
Options:-
.1, Option ID :- 1581,
. 2, Option ID :- 1582,
. 3, Option ID :- 1583,

« 4, Option ID :- 1584,
Answer Given:- 2, Option ID : -1582
Correct Answer :- 2 Option ID :- 1582

Question ID:- 397




P6ad : 07 296806 QI0RE G A°6H | ARK AT @8 |

gae @ell ALY KG9 F1656 QUIF ARG 6F | ISIY F1I9FQ 98QIQ 26aa &Y
6QIREN, @F AIGRAIT G AIPNINI AT FGIY KNG UL QRF | 689
PIREEFIRN AIF 2CANI6E Y0I6Q 21T Q9de 621RAY ? QNI JOGR AW FrIEA
a8 981 QARIACIEE QL AREA IR [T QIR ATTT 62U ? 60Q AR 98
2AAAAG 169RIR QT QAT ? A@RQ IFIF 6010, FRQ A9 eI URUT; AaR
218 Q17 218 | 9218 @8I FER 691G AT QIR 65109 AAQIA ARAINFR 2T
Qél g ? §g IT YIRS USAUER I\ AR 64 AUCACUER V0I6a IRE 6212e, Gl
609R AT ARdd 6Qlg | AT 6RAR QARG ARF-9G 96 OIR
JREAIRE A6E 2IFAING 699 A9F QIF AY2T Q12 6RAR ATNA INR | Q6T
@°Q, Q199S, ARAGY, FRERIY, ARAIF AME YIYASAIER AT 9T 6QIY, A
A6er Af | RI6RYQ, 6QIGIQ AT IRA FRAIFFY UGTE 29 64 APR T6Q
ARC Iml | @ 682 ALUEA 6999 UIANRF JRIRIANITFA QIAY 6% | GIFI 64
Iy 6QlET G6Q4IC QI 21T Yolea FFd @8R GIRIQ & gaId 88 ? &ala
QAA-ZUAANIT AIGY QLA RS FAUEIQT TR | FIQ VTS SAUAANTF
ACF AR A% QF RAAIQ BFI AN, VIR NG ARE ALY QB FAAIG AN
629 | ZNQ RIFIY FIIFEQ AT AR AR 2L, & 9] |

2IF 92999 AR S8R QAU GRS §4 60RAIAa ?

(1) &F1 AGLIQ
(2) 261 LISy
(3) &IE1 AIRY
(4) a9 A°%

Options:-

.1, Option ID :- 1585,
« 2, Option ID :- 1586,
. 3, Option ID :- 1587,

. 4, Option ID :- 1588,
Answer Given:- 3, Option ID : -1587
Correct Answer :- 3 Option ID :- 1587

Question ID:- 398




F6ad : 79 296806 QI0RE G A°6 | A8K AT @8 |

gae @all ALY KG9 F1676 QUIF ARG 6F | FISIY F1ISFR 48Q A &Y
cQIRAN, @g AIGAA 8 APANIA ATN FGIY FISFA JUE VR | 689
2RGETIAI 2G 2EACUEH 90I6Q 2AId AUTS 621RAF ? FIF) goq9R Qg frI6a
9% 981 Q@RIAFIET AL AREA 9@ AT (AR UGTE 620UER ? 609 AR 9
NIRRT 60IR QIF AGYE ? eR9 JICIF 6019Q, IRQ 99 6wId JIR2ST; @R
218 Q17 218 | 918 @21 GER 691G AT 6QIR 69109 AN ARANFR AT
Qél 218 ? @8 T PLqe USA6A IR AT 64 U6AANR JO0I6a IRQ 621a2g, ALl
60eR AT ZEd 6QIg | AT 6RAR QEAIRR W9 96 JOIR
JASIAING AEF ARG 609 ARF AT QYT G171 6RAR ATMA NG | A6TG
@°Q, Q16QS, ARAGY, ORI, AFAIT AME YIYRSAIE AT 97 641G, AN
A6Er QR | RREAEQ, 6RIGIR RNIT ARA FBAITFY UFTC 24 64 Q@R 6
ARe gl | @9 622 ATUER 6999 HUIANINF JRIRAAITFA QIKY 62 | QITl 64
PGy 6a16d T6Q4Ie FIT 218 90I6a GCld QAgE IRIa @ gald &8 ? saIa
QAA-ZUAANNT ATGY QA GRS FAUSYQT AR | 9L QTS AUAANSS
AEF AFARFA A AR KA AP AN, IR IR ARG AL QLI RAAIY ANE
62Q | AGNQ RIGIY FIQAFEQ AT AR &S A, &6 A |

FIPINRIINER AT AR @AQ ?
(1) 252
(2) 213 AISTENL
(3) 26 garaie
(4) 2% F16R18Q
Options:-
.1, Option ID :- 1589,
. 2, Option ID :- 1590,
. 3, Option ID :- 1591,

« 4, Option ID :- 1592,
Answer Given:- 1, Option ID : -1589
Correct Answer :- 1 Option ID :- 1589

Question ID:- 399




F6ad : 79 296806 QI0RE G A°6 | A8K AT @8 |

gae @all ALY KG9 F1676 QUIF ARG 6F | FISIY F1I8FQ 48QQ 26aa 2Y
cQIRAN, @g AIGAA 8 APANIA ATN FGIY FISFA JUE VR | 689
2RGETIAI 2G 2EACUEH 90I6Q 2AId AUTS 621RAF ? FIF) goq9R Qg frI6a
0% 981 AARANEE AL AREA IR QIT 6AR UG 6292UET ? 66X AR o)
NIRRT 60IR QIF AGYE ? eR9 JICIF 6019Q, IRQ 99 6wId JIR2ST; @R
218 Q17 219 | Q218 A2AIF TR 69T AT 6QIR 65189 AR ARAIGFA 2T
Qél 2F ? @8 IT YLRe UG I8 UG 64 AUCACUER Y0I6a IQe 621088, GIel
60eR AT ZEd 6QIg | AT 6RAR QEAIRR W9 96 JOIR
JASIAING AEF ARG 609 ARF AT QYT G171 6RAR ATMA NG | A6TG
@°Q, Q19qS, ARAGY, ORI, ARAIT AME YIYRSAE AT 97 61, A
A6Er QR | RREAEQ, 6RIGIR RNIT ARA FBAITFY UFTC 24 64 Q@R 6
ARC Iml | @ 682 ALUEA 6999 UANRF JRIRIANTFA QIAY 6% | GIFI 64
PGy 6a16d T6Q4Ie FIT 218 90I6a GCld QAgE IRIa @ gald &8 ? saIa
QAA-ZUAANNT ATGY QA GRS FAUSYQT AR | 9L QTS AUAANSS
A6GF AIRNFTFQ Aft@ A QAQUQ QG &N, SRl I ARG AT QY KA A
62Q | AGNQ RIGIY FIQAFEQ AT AR &S A, &6 A |

'T6QA1N-Q 604 A6REE OR ?
(1)@ + 60412,
(2) Q6@ + 1%
(3) 3694 + L
(4) Q68 + &
Options:-
.1, Option ID :- 1593,
. 2, Option ID :- 1594,

. 3, Option ID :- 1595,

« 4, Option ID :- 1596,
Answer Given:- 3, Option ID : -1595
Correct Answer :- 3 Option ID :- 1595

Subject : Odia_Q100-105_L1_P1_CTET

Question ID:- 400




F66dl : P9 RRGIGF QI0RE GIA°S @ AR GLIP @8 |
Q48 AIL°QIER 69 68IRIAUS!
QAR @3 O AUSURT |
g4 TQY 69296169
JRLR F68l 208 RER |
Q969 QAR 6RYIQP QAR
6SIRNEART KT FSIRIAES |
2ISRFA I UK FA16Q
RIQEN CS1 6g¢1 QEQ |
69 2lERIQ Al R@ QI
Q64 68IRIAL RS G |
2IBR16Q 6716 69 6RUT QIR
166l 966 92 QU 6QTHIR |
QER AGIR AGIRN QST

QEC1 PR QR AT |

AIRINNG 626 ACNER QLR FeQ QAIKUFT @GS ?

(1) g@Ie
(2) @l
(3) Q1@
(4) ZaQig

Options:-

.1, Option ID :- 1597,
. 2, Option ID :- 1598,
. 3, Option ID :- 1599,

« 4, Option ID :- 1600,
Answer Given:- 2, Option ID : -1598
Correct Answer :- 2 Option ID :- 1598

Question ID:- 401




F6adl : R0 @FCI°6F QI0RE Qa°sHI @ ARA JAIF @9 |
Q4 AIL°QIER 69 68IRIAUS!
QAR @ O AUKURT |
9dICIe TQY 6QLR&6R
JAALR F64 208 QER |
Q969 QLA 6RYIT AR
6SIREQAT QT SNIRIAESR |
ZIERRA AR &I FA166
RIFAUN AG1 6gF QY6Q |
64 2RISR QI 2@ QI
Q64 64NN YRS S |
216 661E 64 6RUIS QIR
Q66 64 @2 Qd 6QTIR |
IER AOIR QPN AT

QEC CRALES TR AGET |

'6R204 — IR 218 Q'8 ?
(1) 2SAE!

(2) GoQdl

(3) 624l

(4) QIR 4

Options:-

.1, Option ID :- 1601,
. 2, Option ID :- 1602,
. 3, Option ID :- 1603,

. 4, Option ID :- 1604,
Answer Given:- 3, Option ID : -1603
Correct Answer :- 3 Option ID :- 1603

Question ID:- 402




P64l : P9 RRGIGF QI0RE GIA° @ AR GLIP @8 |
Q48 AIL°QIER 69 68IRIAUS!
QAR @3 O AUKURT |
g4 TQY 69296169
JRLR F68l 208 RER |
Q969 QAR 6RYIQP QAR
6SIRNEART KT FGRIACS |
2ISRFA I UK FA16Q
RN CG1 6g¢1 QYEQ |
64 2leRIQ A R@ QI
Q64 68IRIAL RS G |
2IBR16Q 6716 69 6RUT QIR
166l 966 92 QU 6QTHIR |
QER AGIR AGIRN QST

QEC1 PALEC AR ASET |

6SIQAICTT] 629 2AFER RASE ?

(1) G9ERUT 2AR6R
(2) @RAQER 2NARER
(3) AIQEN QA1 2469
(4) ARNSQAR 2AAFEQ

Options:-

.1, Option ID :- 1605,
. 2, Option ID :- 1606,
. 3, Option ID :- 1607,

« 4, Option ID :- 1608,
Answer Given:- 4, Option ID : -1608
Correct Answer :- 4 Option ID :- 1608

Question ID:- 403




F66dl : P9 RRGIGF QI0RE GIA°S @ AR GLIP @8 |
Q48 AIL°QIER 69 68IRIAUS!
QAR @3 O AUSURT |
g4 G4 69296169
JRLR F68l 208 RER |
Q969 QA 6QYIQ QAR
6SIRNEART KT FSIRIAES |
2IERFN I AU FA16Q
RIQEN CS1 6g¢1 QEQ |
69 2lERIQ Al R@ QI
Q64 68IRIAL RS G |
2IBR16Q 6716 69 6RUT QIR
166l 966 92 QU 6QTHIR |
QER AGIR QFIRN AT

QEC1 PAQEC QR A |

2IERRA IRl 6920 @RI AIR2ARI ?

(1) URNEQL64!
(2) 944s 60264
(3) 99% 6RIR64
(4) 9F1RQAREA

Options:-

.1, Option ID :- 1609,
. 2, Option ID :- 1610,
. 3, Option ID :- 1611,

« 4, Option ID :- 1612,
Answer Given:- 1, Option ID : -1609
Correct Answer :- 1 Option ID :- 1609

Question ID:- 404




F66dl : P9 RRGIGF QI0RE GIA°S @ AR GLIP @8 |
Q48 AIL°QIER 69 68IRIAUS!
QAR @3 O AUSURT |
g4 TQY 69296169
JRLR F68l 208 RER |
Q969 QAR 6RYIQP QAR
6SIRNEART KT FSIRIAES |
2ISRFA I UK FA16Q
RIQEN CS1 6g¢1 QEQ |
69 2lERIQ Al R@ QI
Q64 68IRIAL RS G |
2IBR16Q 6716 69 6RUT QIR
166l 966 92 QU 6QTHIR |
QER AGIR AGIRN QST

QEC1 PR QR AT |

QRRAGIF @ QBIARI ?
(1) aee

(2) 691@

(3) RIS

(4) qaat
Options:-

.1, Option ID :- 1613,

. 2, Option ID :- 1614,

. 3, Option ID :- 1615,

« 4, Option ID :- 1616,
Answer Given:- 3, Option ID : -1615
Correct Answer :- 2 Option ID :- 1614

Question ID:- 405




F6adl : R0 @FCI°6F QI0RE Qa°sHI @ ARA JAIF @9 |
Q4 AIL°QIER 69 68IRIAUS!
QAER K3 O AUKURT |
9dICIe TQY 6QLR&6R
JAALR F64 208 QER |
Q969 QLA 6RYIT QAR
6SIREQAT QT SNIRIAESR |
ZIERRQ AR &I FA1EG
RIFAUN AG1 6gF QY6Q |
64 ZIERIR QI 2@ QI
Q64 64NN YRS S |
216 6616 64 6RUIT QIR
Q66 A6d @2 Qd 6QTIR |
IER AOIR QPN AT

QEC CRALES QR AGET |

2RI ILNAZE FRA QUKD ?
(1) 28918

(2) @q2
(3) Qi
(4) %1
Options:-
.1, Option ID :- 1617,
« 2, Option ID :- 1618,
« 3, Option ID :- 1619,

. 4, Option ID :- 1620,
Answer Given:- 3, Option ID : -1619
Correct Answer :- 3 Option ID :- 1619

Subject : Odia_Q106-120_L1_P1_CTET

Question ID:- 406

JRRige gIefe J0f R 9F AAIRAICR 99 Gad w6l TRIg AILIAY

[z ?
(1) YEIL AR AR IR ATEQE QIR [Q

(2) Pa% 209 AL AF 6AAIFT Y@ G FIGQ U918 /8

(3) FAR IRI9Q UGS 6QIRQ QIATIQ 98
(4) Q0% Qa9 o7 Gal R0 JNIRA AAAY 67




Options:-

.1, Option ID :- 1621,
. 2, Option ID :- 1622,
. 3, Option ID :- 1623,

. 4, Option ID :- 1624,
Answer Given:- 4, Option ID : -1624
Correct Answer :- 1 Option ID :- 1621

Question ID:- 407

FO10 6941 NG ALY K64 I0R, NS QUG §F QAU CITER, AILI
TREA 6ACNEE QY VIQEA NQ° AR AEQ 1Y LY QIS IR FTAIRER | IR
QIR SRR LM —

(1) Qa4 a8
(2) 9aeQ 99
(3) Q0% &9
(4) Q6918 &R

Options:-

.1, Option ID :- 1625,
. 2, Option ID :- 1626,
. 3, Option ID :- 1627,

. 4, Option ID :- 1628,
Answer Given:- 1, Option ID : -1625
Correct Answer :- 1 Option ID :- 1625

Question ID:- 408
65029 2SR QI KIS —

(1) @S FYIQAS A6 IFAF IR UL YRS 6QIE RANAN |

(2) g2l @Igl AKI6aEI6a A9l MR ATAER 1D ARG AR08 KRQIea AILIAY
R6Q |

(3) 4@ 999 @IfI9 JNAF @ FYRAXER ALIYS 62IR2AN |
(4) 4@ 9O° VIBIA SRI6A Y2l ¥QYRIAa JPe9a RISER 6QHIAN |

Options:-

.1, Option ID :- 1629,
. 2, Option ID :- 1630,
. 3, Option ID :- 1631,

. 4, Option ID :- 1632,
Answer Given:- 4, Option ID : -1632
Correct Answer :- 3 Option ID :- 1631

Question ID:- 409




90 @64 092 6§61 TRIF AT FUFERR FIRER UF AIF UGS FANQ FT6R |
64 12l ZIQGIR AFER GG B2 CAITIR ALIYY F6R | IS FIAI 69 689 IRIQ VOR
21U RARES ?

(1) Q8@ 908

(2) Qefggst aoq

(3) ¢4 &4 QAT AOR
(4) 926QIS AOR

Options:-

.1, Option ID :- 1633,
« 2, Option ID :- 1634,
. 3, Option ID :- 1635,

. 4, Option ID :- 1636,
Answer Given:- 4, Option ID : -1636
Correct Answer :- 2 Option ID :- 1634

Question ID:- 410

QAN ARER 99 AL Q2 WNIVAR AT RLAR FIAI 99 6g€Ia ARG

ALREQ QUG ATE TETE KRR VTG @V VAR 66 QRILIN
|

(1) I0RERQ ARG

(2) 9196rR VITVE ARG
(3) ARC-AFAR ARG

(4) fRul8a a8d

Options:-

.1, Option ID :- 1637,
. 2, Option ID :- 1638,
. 3, Option ID :- 1639,

. 4, Option ID :- 1640,
Answer Given:- 1, Option ID : -1637
Correct Answer :- 2 Option ID :- 1638

Question ID:- 411




ao0a ’Q‘E’{ dIoYQ UIRC! @'€ ?

(1) dg1g15a 907 6G18Ra IRILFER AIRIYY @S |
(2) Q0% 99 6 AR 28 JAIF QS |

(3) 6R161T CIOYEE YEQIRTRNER AILIPY GQQ! A°EG A°6G asalehgg 69948l gQIa
a9l |

(4) 0K IR QUKAER AAINF QRS |

Options:-

.1, Option ID :- 1641,
. 2, Option ID :- 1642,
. 3, Option ID :- 1643,

. 4, Option ID :- 1644,
Answer Given:- 3, Option ID : -1643
Correct Answer :- 3 Option ID :- 1643

Question ID:- 412
Jae [Igl 2Iead ¢ Qg cleal e @8I —

(1) 6Q191R 9a — 29 @l — QAR I8 GeLlc! — A°6RE QA — @"_EI@ AR @Il
(2) 691€1@ 9o — &U4Y Kl — @_@@ A6l WIS — 4°6@C WISl — QKR d% GG
(3) 6QIFR gA — QIR IR JERUG — UG Q& — QAT FRQ VAW — A°6RE S
(4) 6RNEIR gl — ALY Q2 — QANUAR G& GRS — @ﬁ!@ NG QU — 4°6aC LUl

Options:-

.1, Option ID :- 1645,
. 2, Option ID :- 1646,
. 3, Option ID :- 1647,

« 4, Option ID :- 1648,
Answer Given:- 1, Option ID : -1645
Correct Answer :- 4 Option ID :- 1648

Question ID:- 413

QY YA FFI9Q 670 INNER FOR A JEIR AN AU U FEAR
69k 19 28 AU6A JaQ 699 ARFQ QRIAIN |

(1) 98 - 79 a8

(2) 59 - 9F 989

(3) YQR 6999 WS MU ARG

(4) QaIERe FRIQE 96T

Options:-




.1, Option ID :- 1649,
« 2, Option ID :- 1650,
. 3, Option ID :- 1651,

. 4, Option ID :- 1652,
Answer Given:- 4, Option ID : -1652
Correct Answer :- 1 Option ID :- 1649

Question ID:- 414

_ Oe0arSea 399 99194 95 18 Al A9 699 AIRQIQ KIQ
QRUS2NZ |

(1) Gélg aqual

(2) 22104l @Y A1

(3) ATrRel QIg aigl

(4) gRIae 65344 caId

Options:-

.1, Option ID :- 1653,
. 2, Option ID :- 1654,
« 3, Option ID :- 1655,

. 4, Option ID :- 1656,
Answer Given:- 4, Option ID : -1656
Correct Answer :- 1 Option ID :- 1653

Question ID:- 415

2l @8R AF0 T8 Qg QRIS KR IR dF AV QIQER IRV FRIEIER, RS
1K Wm @ QG e QAT | 968 FUR U6 AT A8 QU ALY
QA6 ?

(1) Q19 AIFR ARG 98°A @7

(2) AR TACGF V1A AUG ADIER UFIFGL A°ARER FEID
(3) ARG ARIEQ ALY AR TACILIF 26N /9

(4) 919 gOIS P68 QIR ARV 6aR

Options:-

.1, Option ID :- 1657,
. 2, Option ID :- 1658,
. 3, Option ID :- 1659,

. 4, Option ID :- 1660,
Answer Given:- 3, Option ID : -1659
Correct Answer :- 1 Option ID :- 1657

Question ID:- 416




@ OFR §R'A 5 6AE, 6FITR FAIFR ATIRQ 962 AF INIBER FIAF TSN
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(1) 2092 QV.A6a dF QS AG6RE ¢ ARG |

(2) i9Q 9@ IRl 6@3@ A eI |

(3) Q2 QTQQ ALFIC QUVIETR 60 FGAUN 98 FAR! |
(4) gaYQ VT 216AT 69 VYT QT AW AIREAR |

Options:-

.1, Option ID :- 1661,
. 2, Option ID :- 1662,
« 3, Option ID :- 1663,

. 4, Option ID :- 1664,
Answer Given:- 1, Option ID : -1661
Correct Answer :- 1 Option ID :- 1661

Question ID:- 417

'IGITY @@ER QEIN —
(1) YA AANGTR 9
(2) SQURAEQ NG 1T
(3) QQURUQ UV AU
(4) 633 Qg

Options:-

.1, Option ID :- 1665,

. 2, Option ID :- 1666,

. 3, Option ID :- 1667,

. 4, Option ID :- 1668,

Answer Given:- 1, Option ID : -1665
Correct Answer :- 1 Option ID :- 1665

Question ID:- 418
AR GRIIVAEN IYFRIQ 6RLEY 1@ QAR UEA G248 KA QIR ?

(1) QUSRS

(2) a0

(3) IR QALNG
(4) 2Q9IQ FEL @Y

Options:-
.1, Option ID :- 1669,




. 2, Option ID :- 1670,
. 3, Option ID :- 1671,

. 4, Option ID :- 1672,
Answer Given:- 1, Option ID : -1669
Correct Answer :- 1 Option ID :- 1669

Question ID:- 419

AIGRIT CIIFES 2LQE @8 AFYS VUG 6FIRA ALIA FF RAIRUTIQ AFCR!
3 c0Qel AR SAUIRGI ATTER 600 I8S god adelrg ?

(1) 9o4Q 98

(2) ULREQ UG 98T
(3) GRIfe 08

(4) 256 RN 98T

Options:-

.1, Option ID :- 1673,
. 2, Option ID :- 1674,
. 3, Option ID :- 1675,

« 4, Option ID :- 1676,
Answer Given:- 3, Option ID : -1675
Correct Answer :- 2 Option ID :- 1674

Question ID:- 420
YFRIG 6RAT FN4 BARSIS, B9 [T, A°06a ASY G6L ?
(1) F21NFQ QA°TC RUFER 12! AAMYE T2 |
(2) Q08 QA6a AAYR VIRER MR, A°WI AY TRY AFAAER 9Ll A 9§
QdaId |
(3) 92492 G918 9&° 94 F16Q IR ARAUEH A AR |
(4) Q91 QA% G2l 22INA6a AaaY 98 Q2N |

Options:-

.1, Option ID :- 1677,
. 2, Option ID :- 1678,
. 3, Option ID :- 1679,

« 4, Option ID :- 1680,
Answer Given:- 3, Option ID : -1679
Correct Answer :- 3 Option ID :- 1679

Subject : ENG_Q121-128_L2_P1_CTET

Question ID:- 961




Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.

1. Google has honoured Anasuya Sarabhai with a doodle on her 132" birth anniversary. She
founded the Ahmedabad Textile Labour Association, India’s oldest union of textile workers, in
1920. Known as ‘Motaben’, Gujarati for ‘elder sister’, she was born in 1885 into the affluent
Sarabhai family in Ahmedabad.

2.In 1912, Anasuya left for England to continue her studies and it was there that the
turnaround in her life came. During this time, she came in contact with George Bernard Shaw
and Sidney Webb, who recommended a gradual transition to a socialist society. Next year she
returned to India and started working with the marginal and disempowered communities.

3. She began by opening a school for poor students of all castes, creches and toilets for
women. “One morning, | was sitting outside in the compound combing out the children’s hair
when | saw a group of 15 workers passing by as if in a trance. | called out to them,... What's
the matter? Why do you look so listless?” They said, “Behen, we have just finished our work.
We have worked for two nights and a day without a break, and now we are on our way home.”
These words filled me with horror. This was no different than slavery.”

4. When epidemic hit Ahmedabad in 1914, the condition of the mill workers deteriorated further
and they approached Anasuya to take up their cause. She gave an ultimatum to the mill
owners and even went against her brother, Ambalal, who was the then-president of the Mill
Owners’ Association, demanding better wages and working ambience for the labourers.

5. She was supported in her work by Mahatma Gandhi and in 1918, Anasuya managed mill
owners to accede to the demand of Ahmedabad weavers for 35% wage hike. Thus, laying the
foundation for Gujarat's oldest labour union, Majcor Mahajan Sangh, on February 25, 1920.
However, Anasuya ensued that the relationship between the mill owners and the union always
remained harmanious and any differences were nipped in the bud.

Which of the following statements is correct?

(1) Anasuya and her brother were always at loggerheads with each other.
(2) Without her brother's help she couldn’t have gone to England.
(3) She went against her brother in 1914, when she took up the case of mill workers.

(4) She encouraged the union to fight against the mill owners.

Options:-

.1, Option ID :- 3841,
. 2, Option ID :- 3842,
. 3, Option ID :- 3843,

« 4, Option ID :- 3844,
Answer Given:- 3, Option ID : -3843
Correct Answer :- 3 Option ID :- 3843

Question ID:- 962




Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.

1. Google has honoured Anasuya Sarabhai with a doodle on her 132" birth anniversary. She
founded the Ahmedabad Textile Labour Association, India’s oldest union of textile workers, in
1920. Known as ‘Motaben’, Gujarati for ‘elder sister’, she was born in 1885 into the affluent
Sarabhai family in Ahmedabad.

2.1n 1812, Anasuya left for England to continue her studies and it was there that the
turnaround in her life came. During this time, she came in contact with George Bernard Shaw
and Sidney Webb, who recommended a gradual transition to a socialist society. Next year she
returned to India and started working with the marginal and disempowered communities.

3. She began by opening a school for poor students of all castes, creches and toilets for
women. “One morning, | was sitting outside in the compound combing out the children’s hair
when | saw a group of 15 workers passing by as if in a trance. | called out to them,... What's
the matter? Why do you look so listless?” They said, “Behen, we have just finished our work.
We have worked for two nights and a day without a break, and now we are on our way home.”
These words filled me with horror. This was no different than slavery.”

4. When epidemic hit Ahmedabad in 1914, the condition of the mill workers deteriorated further
and they approached Anasuya to take up their cause. She gave an ultimatum to the mill
owners and even went against her brother, Ambalal, who was the then-president of the Mill
Owners’ Association, demanding better wages and working ambience for the labourers.

5. She was supported in her work by Mahatma Gandhi and in 1918, Anasuya managed mill
owners to accede to the demand of Ahmedabad weavers for 35% wage hike. Thus, laying the
foundation for Gujarat's oldest labour union, Majecor Mahajan Sangh, on February 25, 1920.
However, Anasuya ensued that the relationship between the mill owners and the union always
remained harmanious and any differences were nipped in the bud.

When did a turnaround come in Anasuya Sarabhai's life?

(1) When she heard the women'’s plight of long working hours
(2) When she came in contact with G.B Shaw and Sidney Webb
(3) After her first meeting with Mahatma Gandhi

(4) During the epidemic of 1914

Options:-

.1, Option ID :- 3845,
. 2, Option ID :- 3846,
. 3, Option ID :- 3847,

. 4, Option ID :- 3848,
Answer Given:- 2, Option ID : -3846
Correct Answer :- 2 Option ID :- 3846

Question ID:- 963




Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.

1. Google has honoured Anasuya Sarabhai with a doodle on her 132" birth anniversary. She
founded the Ahmedabad Textile Labour Association, India’s oldest union of textile workers, in
1920. Known as ‘Motaben’, Gujarati for ‘elder sister’, she was born in 1885 into the affluent
Sarabhai family in Ahmedabad.

2.1n 1812, Anasuya left for England to continue her studies and it was there that the
turnaround in her life came. During this time, she came in contact with George Bernard Shaw
and Sidney Webb, who recommended a gradual transition to a socialist society. Next year she
returned to India and started working with the marginal and disempowered communities.

3. She began by opening a school for poor students of all castes, creches and toilets for
women. “One morning, | was sitting outside in the compound combing out the children’s hair
when | saw a group of 15 workers passing by as if in a trance. | called out to them,... What's
the matter? Why do you look so listless?” They said, “Behen, we have just finished our work.
We have worked for two nights and a day without a break, and now we are on our way home.”
These words filled me with horror. This was no different than slavery.”

4. When epidemic hit Ahmedabad in 1914, the condition of the mill workers deteriorated further
and they approached Anasuya to take up their cause. She gave an ultimatum to the mill
owners and even went against her brother, Ambalal, who was the then-president of the Mill
Owners’ Association, demanding better wages and working ambience for the labourers.

5. She was supported in her work by Mahatma Gandhi and in 1918, Anasuya managed mill
owners to accede to the demand of Ahmedabad weavers for 35% wage hike. Thus, laying the
foundation for Gujarat's oldest labour union, Majecor Mahajan Sangh, on February 25, 1920.
However, Anasuya ensued that the relationship between the mill owners and the union always
remained harmanious and any differences were nipped in the bud.

After her return from England, how did she begin her work?

(1) Opened schools, creches and toilets for poor women
(2) Established the first trade union in Ahmedabad
(3) Began working with Mahatma Gandhi for better wages

(4) Managed mill workers

Options:-

.1, Option ID :- 3849,
. 2, Option ID :- 3850,
. 3, Option ID :- 3851,

« 4, Option ID :- 3852,
Answer Given:- 1, Option ID : -3849
Correct Answer :- 1 Option ID :- 3849

Question ID:- 964




Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.

1. Google has honoured Anasuya Sarabhai with a doodle on her 132" birth anniversary. She
founded the Ahmedabad Textile Labour Association, India’s oldest union of textile workers, in
1920. Known as ‘Motaben’, Gujarati for ‘elder sister’, she was born in 1885 into the affluent
Sarabhai family in Ahmedabad.

2.In 1912, Anasuya left for England to continue her studies and it was there that the
turnaround in her life came. During this time, she came in contact with George Bernard Shaw
and Sidney Webb, who recommended a gradual transition to a socialist society. Next year she
returned to India and started working with the marginal and disempowered communities.

3. She began by opening a school for poor students of all castes, creches and toilets for
women. “One morning, | was sitting outside in the compound combing out the children’s hair
when | saw a group of 15 workers passing by as if in a trance. | called out to them,... What'’s
the matter? Why do you look so listless?" They said, “Behen, we have just finished our work.
We have worked for two nights and a day without a break, and now we are on our way home."
These words filled me with horror. This was no different than slavery.”

4. When epidemic hit Ahmedabad in 1914, the condition of the mill workers deteriorated further
and they approached Anasuya to take up their cause. She gave an ultimatum to the mill
owners and even went against her brother, Ambalal, who was the then-president of the Mill
Owners’ Association, demanding better wages and working ambience for the labourers.

5. She was supported in her work by Mahatma Gandhi and in 1918, Anasuya managed mill
owners to accede to the demand of Ahmedabad weavers for 35% wage hike. Thus, laying the
foundation for Gujarat's oldest labour union, Majoor Mahajan Sangh, on February 25, 1920.
However, Anasuya ensued that the relationship between the mill owners and the union always
remained harmanious and any differences were nipped in the bud.

In 1914, Anasuya Sarabhai was pitted against her brother Ambalal Sarabhai because she was
a and he was the

(1) Union leader; Secretary of Mill Owners’ Association

(2) Social worker; President of Mill Owners’ Association

(3) Union leader; President of Mill Owners’ Association

{(4) Social worker; Secretary of Mill Owners’ Association

Options:-

.1, Option ID :- 3853,
. 2, Option ID :- 3854,
. 3, Option ID :- 3855,

. 4, Option ID :- 3856,
Answer Given:- 2, Option ID : -3854
Correct Answer :- 2 Option ID :- 3854

Question ID:- 965




Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.

1. Google has honoured Anasuya Sarabhai with a doodle on her 132" birth anniversary. She
founded the Ahmedabad Textile Labour Association, India’s oldest union of textile workers, in
1920. Known as ‘Motaben’, Gujarati for ‘elder sister’, she was born in 1885 into the affluent
Sarabhai family in Ahmedabad.

2.1n 1812, Anasuya left for England to continue her studies and it was there that the
turnaround in her life came. During this time, she came in contact with George Bernard Shaw
and Sidney Webb, who recommended a gradual transition to a socialist society. Next year she
returned to India and started working with the marginal and disempowered communities.

3. She began by opening a school for poor students of all castes, creches and toilets for
women. “One morning, | was sitting outside in the compound combing out the children’s hair
when | saw a group of 15 workers passing by as if in a trance. | called out to them,... What's
the matter? Why do you look so listless?” They said, “Behen, we have just finished our work.
We have worked for two nights and a day without a break, and now we are on our way home.”
These words filled me with horror. This was no different than slavery.”

4. When epidemic hit Ahmedabad in 1914, the condition of the mill workers deteriorated further
and they approached Anasuya to take up their cause. She gave an ultimatum to the mill
owners and even went against her brother, Ambalal, who was the then-president of the Mill
Owners’ Association, demanding better wages and working ambience for the labourers.

5. She was supported in her work by Mahatma Gandhi and in 1918, Anasuya managed mill
owners to accede to the demand of Ahmedabad weavers for 35% wage hike. Thus, laying the
foundation for Gujarat's oldest labour union, Majecor Mahajan Sangh, on February 25, 1920.
However, Anasuya ensued that the relationship between the mill owners and the union always
remained harmanious and any differences were nipped in the bud.

The workers were in trance because they had worked for

(1) 36 hours
(2) 24 hours
(3) 48 hours
(4) 18 hours

Options:-

.1, Option ID :- 3857,
. 2, Option ID :- 3858,
. 3, Option ID :- 3859,

« 4, Option ID :- 3860,
Answer Given:- 1, Option ID : -3857
Correct Answer :- 1 Option ID :- 3857

Question ID:- 966




Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.

1. Google has honoured Anasuya Sarabhai with a doodle on her 132™ birth anniversary. She
founded the Ahmedabad Textile Labour Association, India’s oldest union of textile workers, in
1920. Known as ‘Motaben’, Gujarati for ‘elder sister’, she was born in 1885 into the affluent
Sarabhai family in Ahmedabad.

2.1n 1812, Anasuya left for England to continue her studies and it was there that the
turnaround in her life came. During this time, she came in contact with George Bernard Shaw
and Sidney Webb, who recommended a gradual transition to a socialist society. Next year she
returned to India and started working with the marginal and disempowered communities.

3. She began by opening a school for poor students of all castes, creches and toilets for
women. “One morning, | was sitting outside in the compound combing out the children’s hair
when | saw a group of 15 workers passing by as if in a trance. | called out to them,... What's
the matter? Why do you look so listless?” They said, “Behen, we have just finished our work.
We have worked for two nights and a day without a break, and now we are on our way home.”
These words filled me with horror. This was no different than slavery.”

4. When epidemic hit Ahmedabad in 1914, the condition of the mill workers deteriorated further
and they approached Anasuya to take up their cause. She gave an ultimatum to the mill
owners and even went against her brother, Ambalal, who was the then-president of the Mill
Owners’ Association, demanding better wages and working ambience for the labourers.

5. She was supported in her work by Mahatma Gandhi and in 1918, Anasuya managed mill
owners to accede to the demand of Ahmedabad weavers for 35% wage hike. Thus, laying the
foundation for Gujarat's oldest labour union, Majecor Mahajan Sangh, on February 25, 1920.
However, Anasuya ensued that the relationship between the mill owners and the union always
remained harmanious and any differences were nipped in the bud.

‘Nipped in the bud’ is a type of :

(1) phrase

(2) idiom

(3) phrasal verb

(4) figure of speech

Options:-

.1, Option ID :- 3861,
. 2, Option ID :- 3862,
. 3, Option ID :- 3863,

« 4, Option ID :- 3864,
Answer Given:- 2, Option ID : -3862
Correct Answer :- 2 Option ID :- 3862

Question ID:- 967




Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.

1. Google has honoured Anasuya Sarabhai with a doodle on her 132" birth anniversary. She
founded the Ahmedabad Textile Labour Association, India’s oldest union of textile workers, in
1920. Known as ‘Motaben’, Gujarati for ‘elder sister’, she was born in 1885 into the affluent
Sarabhai family in Ahmedabad.

2.In 1912, Anasuya left for England to continue her studies and it was there that the
turnaround in her life came. During this time, she came in contact with George Bernard Shaw
and Sidney Webb, who recommended a gradual transition to a socialist society. Next year she
returned to India and started working with the marginal and disempowered communities.

3. She began by opening a school for poor students of all castes, creches and toilets for
women. “One morning, | was sitting outside in the compound combing out the children’s hair
when | saw a group of 15 workers passing by as if in a trance. | called out to them,... What'’s
the matter? Why do you look so listless?" They said, “Behen, we have just finished our work.
We have worked for two nights and a day without a break, and now we are on our way home."
These words filled me with horror. This was no different than slavery.”

4. When epidemic hit Ahmedabad in 1914, the condition of the mill workers deteriorated further
and they approached Anasuya to take up their cause. She gave an ultimatum to the mill
owners and even went against her brother, Ambalal, who was the then-president of the Mill
Owners’ Association, demanding better wages and working ambience for the labourers.

5. She was supported in her work by Mahatma Gandhi and in 1918, Anasuya managed mill
owners to accede to the demand of Ahmedabad weavers for 35% wage hike. Thus, laying the
foundation for Gujarat's oldest labour union, Majoor Mahajan Sangh, on February 25, 1920.
However, Anasuya ensued that the relationship between the mill owners and the union always
remained harmonious and any differences were nipped in the bud.

Which part of the following sentence contains an error?
(a) Next year she returns to India

(b) and started working

(c) with the marginal

(d) and disempowered communities.

(1) (a)

(2) (b)

(3) (c)

(4) (d)
Options:-

.1, Option ID :- 3865,
« 2, Option ID :- 3866,
. 3, Option ID :- 3867,

. 4, Option ID :- 3868,
Answer Given:- 1, Option ID : -3865
Correct Answer :- 1 Option ID :- 3865

Question ID:- 968




Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.

1. Google has honoured Anasuya Sarabhai with a doodle on her 132" birth anniversary. She
founded the Ahmedabad Textile Labour Association, India’s oldest union of textile workers, in
1920. Known as ‘Motaben’, Gujarati for ‘elder sister’, she was born in 1885 into the affluent
Sarabhai family in Ahmedabad.

2.In 1912, Anasuya left for England to continue her studies and it was there that the
turnaround in her life came. During this time, she came in contact with George Bernard Shaw
and Sidney Webb, who recommended a gradual transition to a socialist society. Next year she
returned to India and started working with the marginal and disempowered communities.

3. She began by opening a school for poor students of all castes, creches and toilets for
women. “One morning, | was sitting outside in the compound combing out the children’s hair
when | saw a group of 15 workers passing by as if in a trance. | called out to them,... What's
the matter? Why do you look so listless?” They said, “Behen, we have just finished our work.
We have worked for two nights and a day without a break, and now we are on our way home.”
These words filled me with horror. This was no different than slavery.”

4. When epidemic hit Ahmedabad in 1914, the condition of the mill workers deteriorated further
and they approached Anasuya to take up their cause. She gave an ultimatum to the mill
owners and even went against her brother, Ambalal, who was the then-president of the Mill
Owners’ Association, demanding better wages and working ambience for the labourers.

5. She was supported in her work by Mahatma Gandhi and in 1918, Anasuya managed mill
owners to accede to the demand of Ahmedabad weavers for 35% wage hike. Thus, laying the
foundation for Gujarat's oldest labour union, Majcor Mahajan Sangh, on February 25, 1920.
However, Anasuya ensued that the relationship between the mill owners and the union always
remained harmanious and any differences were nipped in the bud.

Which of the following words is an antonym of ‘affluent'?(Para 1)

(1) rich
(2) prosperous
(3) well-off

(4) impoverished

Options:-

.1, Option ID :- 3869,
. 2, Option ID :- 3870,
. 3, Option ID :- 3871,

« 4, Option ID :- 3872,
Answer Given:- 4, Option ID : -3872
Correct Answer :- 4 Option ID :- 3872

Subject : ENG_Q129-135_L2_P1_CTET

Question ID:- 969




Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.

1. According to a Rutgers University study, eating more protein, when dieting, improves food
choices and prevents the loss of lean body mass, which is often connected with weight loss.
The data was gathered from more than 200 men and women who took part in clinical studies.
2. The quality of the person’s food choices is significantly impacted by even a little increase in
protein consumption, from 18% to 20% of their total caloric intake, according to a review of
pooled data from many weight-loss trials conducted.

3. Dieters who follow calorie-restricted weight-loss plans often cut down on the consumption of
nutritious meals that include micronutrients like iron and zinc. Higher protein intake is often
linked to healthier outcomes, but the relationship between protein consumption and diet quality
is not well known, according to researchers.

4. Participants’ body mass indexes indicated that they were either overweight or obese, and
their ages ranged from 24 to 75. Over a six-month period, all participants were counseled to
lose weight by following a diet that was 500 calories deficient. They were encouraged to allot
18 percent of their caloric intake to lean protein, such as poultry, unprocessed red meat, fish,
legumes, and dairy, and to expend the balance of their calories on fruits, vegetables, and
whole grains. They were discouraged from ingesting saturated fats, refined grains, sugar, and
salt.

5. Participants kept detailed food records, which researchers analyzed for diet quality, specific
categories of food consumed and ratios, and specific sources of protein. The participants who
self-selected their protein intake were then characterized by researchers into a lower-protein
approach with 18 percent of overall calories coming from protein or a higher-protein approach
with 20 percent of the overall food intake coming from protein.

6. The study concluded:

* Both low- and high-protein groups lost the same amount of weight — about five percent of
their body weight over six months.

* Higher-protein group individuals chose a mix of healthier foods to eat overall, specifically
increasing their intake of green vegetables and cut back on sugar and refined grains.

» Higher-protein group individuals were better able to retain their lean muscle mass.

Read the following statements :

A) A calorie-restricted diet generally involves cutting down on nutritious meals.
B) Such a diet results in conservation of lean body mass.

(1) Ais correct, B is incorrect

(2) A is incorrect, B is correct

(3) Both A and B are incorrect

(4) Both A and B are correct

Options:-

.1, Option ID :- 3873,
. 2, Option ID :- 3874,
. 3, Option ID :- 3875,

. 4, Option ID :- 3876,
Answer Given:- 1, Option ID : -3873
Correct Answer :- 4 Option ID :- 3876




Question ID:- 970

Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.
1. According to a Rutgers University study, eating more protein, when dieting, improves food
choices and prevents the loss of lean body mass, which is often connected with weight loss.
The data was gathered from more than 200 men and women who took part in clinical studies.
2. The guality of the person’s food choices is significantly impacted by even a little increase in
protein consumption, from 18% to 20% of their total caloric intake, according to a review of
pooled data from many weight-loss trials conducted.
3. Dieters who follow calorie-restricted weight-loss plans often cut down on the consumption of
nutritious meals that include micronutrients like iron and zinc. Higher protein intake is often
linked to healthier outcomes, but the relationship between protein consumption and diet quality
is not well known, according to researchers.

4. Participants’ body mass indexes indicated that they were either overweight or obese, and
their ages ranged from 24 to 75. Over a six-month period, all participants were counseled to
lose weight by following a diet that was 500 calories deficient. They were encouraged to allot
18 percent of their caloric intake to lean protein, such as poultry, unprocessed red meat, fish,
legumes, and dairy, and to expend the balance of their calories on fruits, vegetables, and
whole grains. They were discouraged from ingesting saturated fats, refined grains, sugar, and
salt.

5. Participants kept detailed food records, which researchers analyzed for diet quality, specific
categories of food consumed and ratios, and specific sources of protein. The participants who
self-selected their protein intake were then characterized by researchers into a lower-protein
approach with 18 percent of overall calories coming from protein or a higher-protein approach
with 20 percent of the overall food intake coming from protein.

6. The study concluded:

* Both low- and high-protein groups lost the same amount of weight — about five percent of
their body weight over six months.

* Higher-protein group individuals chose a mix of healthier foods to eat overall, specifically
increasing their intake of green vegetables and cut back on sugar and refined grains.

» Higher-protein group individuals were better able to retain their lean muscle mass.

Read the following statements:

A) For weight loss we should not eat saturated fats and refined grains.
B) Weight loss was found to be greater in low-protein group participants.
(1) Ais false and B is true

(2) B is false and A is true

(3) Both A and B are false

(4) Both A and B are true

Options:-

.1, Option ID :- 3877,
« 2, Option ID :- 3878,
. 3, Option ID :- 3879,

. 4, Option ID :- 3880,
Answer Given:- 2, Option ID : -3878
Correct Answer :- 2 Option ID :- 3878




Question ID:- 971

Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.

1. According to a Rutgers University study, eating more protein, when dieting, improves food
choices and prevents the loss of lean body mass, which is often connected with weight loss.
The data was gathered from more than 200 men and women who took part in clinical studies.
2. The guality of the person’s food choices is significantly impacted by even a little increase in
protein consumption, from 18% to 20% of their total caloric intake, according to a review of
pooled data from many weight-loss trials conducted.

3. Dieters who follow calorie-restricted weight-loss plans often cut down on the consumption of
nutritious meals that include micronutrients like iron and zinc. Higher protein intake is often
linked to healthier outcomes, but the relationship between protein consumption and diet quality
is not well known, according to researchers.

4. Participants’ body mass indexes indicated that they were either overweight or obese, and
their ages ranged from 24 to 75. Over a six-month period, all participants were counseled to
lose weight by following a diet that was 500 calories deficient. They were encouraged to allot
18 percent of their caloric intake to lean protein, such as poultry, unprocessed red meat, fish,
legumes, and dairy, and to expend the balance of their calories on fruits, vegetables, and
whole grains. They were discouraged from ingesting saturated fats, refined grains, sugar, and
salt.

5. Participants kept detailed food records, which researchers analyzed for diet quality, specific
categories of food consumed and ratios, and specific sources of protein. The participants who
self-selected their protein intake were then characterized by researchers into a lower-protein
approach with 18 percent of overall calories coming from protein or a higher-protein approach
with 20 percent of the overall food intake coming from protein.

6. The study concluded:

» Both low- and high-protein groups lost the same amount of weight — about five percent of
their body weight over six months.

» Higher-protein group individuals chose a mix of healthier foods to eat overall, specifically
increasing their intake of green vegetables and cut back on sugar and refined grains.

* Higher-protein group individuals were better able to retain their lean muscle mass.

The diet of high-protein group participants included

(1) poultry, legumes, dairy, unprocessed red meat
(2) poultry, legumes, dairy, refined grains, vegetables
(3) poultry, legumes, dairy, saturated fats, salts

(4) poultry, legumes, dairy, whole grains, sugar

Options:-

.1, Option ID :- 3881,
. 2, Option ID :- 3882,
. 3, Option ID :- 3883,

« 4, Option ID :- 3884,
Answer Given:- 1, Option ID : -3881
Correct Answer :- 1 Option ID :- 3881




Question ID:- 972

Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.

1. According to a Rutgers University study, eating more protein, when dieting, improves food
choices and prevents the loss of lean body mass, which is often connected with weight loss.
The data was gathered from more than 200 men and women who took part in clinical studies.
2. The guality of the person’s food choices is significantly impacted by even a litile increase in
protein consumption, from 18% to 20% of their total caloric intake, according to a review of
pooled data from many weight-loss trials conducted.

3. Dieters who follow calorie-restricted weight-loss plans often cut down on the consumption of
nutritious meals that include micronutrients like iron and zinc. Higher protein intake is often
linked to healthier outcomes, but the relationship between protein consumption and diet quality
is not well known, according to researchers.

4. Participants’ body mass indexes indicated that they were either overweight or obese, and
their ages ranged from 24 to 75. Over a six-month period, all participants were counseled to
lose weight by following a diet that was 500 calories deficient. They were encouraged to allot
18 percent of their caloric intake to lean protein, such as poultry, unprocessed red meat, fish,
legumes, and dairy, and to expend the balance of their calories on fruits, vegetables, and
whole grains. They were discouraged from ingesting saturated fats, refined grains, sugar, and
salt.

5. Participants kept detailed food records, which researchers analyzed for diet quality, specific
categories of food consumed and ratios, and specific sources of protein. The participants who
self-selected their protein intake were then characterized by researchers into a lower-protein
approach with 18 percent of overall calories coming from protein or a higher-protein approach
with 20 percent of the overall food intake coming from protein.

6. The study concluded:

* Both low- and high-protein groups lost the same amount of weight — about five percent of
their body weight over six months.

» Higher-protein group individuals chose a mix of healthier foods to eat overall, specifically
increasing their intake of green vegetables and cut back on sugar and refined grains.

» Higher-protein group individuals were better able o retain their lean muscle mass.

Which statement is nof true in the light of the given passage?

(1) Eating more protein when dieting improves food choices.
(2) Unprocessed red meat is a form of lean protein.
(3) Lean body mass is managed better in high protein group individuals.

(4) There exists a strong correlation between protein consumption and diet quality.

Options:-

.1, Option ID :- 3885,
. 2, Option ID :- 3886,
. 3, Option ID :- 3887,

. 4, Option ID :- 3888,
Answer Given:- 4, Option ID : -3888
Correct Answer :- 4 Option ID :- 3888

Question ID:- 973




Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.

1. According to a Rutgers University study, eating more protein, when dieting, improves food
choices and prevents the loss of lean body mass, which is often connected with weight loss.
The data was gathered from more than 200 men and women who took part in clinical studies.
2. The guality of the person’s food choices is significantly impacted by even a litile increase in
protein consumption, from 18% to 20% of their total caloric intake, according to a review of
pooled data from many weight-loss trials conducted.

3. Dieters who follow calorie-restricted weight-loss plans often cut down on the consumption of
nutritious meals that include micronutrients like iron and zinc. Higher protein intake is often
linked to healthier outcomes, but the relationship between protein consumption and diet quality
is not well known, according to researchers.

4. Participants’ body mass indexes indicated that they were either overweight or obese, and
their ages ranged from 24 to 75. Over a six-month period, all participants were counseled to
lose weight by following a diet that was 500 calories deficient. They were encouraged to allot
18 percent of their caloric intake to lean protein, such as pouliry, unprocessed red meat, fish,
legumes, and dairy, and to expend the balance of their calories on fruits, vegetables, and
whole grains. They were discouraged from ingesting saturated fats, refined grains, sugar, and
salt.

5. Participants kept detailed food records, which researchers analyzed for diet quality, specific
categories of food consumed and ratios, and specific sources of protein. The participants who
self-selected their protein intake were then characterized by researchers into a lower-protein
approach with 18 percent of overall calories coming from protein or a higher-protein approach
with 20 percent of the overall food intake coming from protein.

6. The study concluded:

* Both low- and high-protein groups lost the same amount of weight — about five percent of
their body weight over six months.

» Higher-protein group individuals chose a mix of healthier foods to eat overall, specifically
increasing their intake of green vegetables and cut back on sugar and refined grains.

* Higher-protein group individuals were better able to retain their lean muscle mass.

Which of the following words is the most suitable antonym of “expend” as used in para 4 of the
passage?

(1) renew

(2) disrupt

(3) conserve

(4) make

Options:-

.1, Option ID :- 3889,
. 2, Option ID :- 3890,
. 3, Option ID :- 3891,

« 4, Option ID :- 3892,
Answer Given:- 2, Option ID : -3890
Correct Answer :- 3 Option ID :- 3891

Question ID:- 974




Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.

1. According to a Rutgers University study, eating more protein, when dieting, improves food
choices and prevents the loss of lean body mass, which is often connected with weight loss.
The data was gathered from more than 200 men and women who took part in clinical studies.
2. The guality of the person’s food choices is significantly impacted by even a litile increase in
protein consumption, from 18% to 20% of their total caloric intake, according to a review of
pooled data from many weight-loss trials conducted.

3. Dieters who follow calorie-restricted weight-loss plans often cut down on the consumption of
nutritious meals that include micronutrients like iron and zinc. Higher protein intake is often
linked to healthier outcomes, but the relationship between protein consumption and diet quality
is not well known, according to researchers.

4. Participants’ body mass indexes indicated that they were either overweight or obese, and
their ages ranged from 24 to 75. Over a six-month period, all participants were counseled to
lose weight by following a diet that was 500 calories deficient. They were encouraged to allot
18 percent of their caloric intake to lean protein, such as pouliry, unprocessed red meat, fish,
legumes, and dairy, and to expend the balance of their calories on fruits, vegetables, and
whole grains. They were discouraged from ingesting saturated fats, refined grains, sugar, and
salt.

5. Participants kept detailed food records, which researchers analyzed for diet quality, specific
categories of food consumed and ratios, and specific sources of protein. The participants who
self-selected their protein intake were then characterized by researchers into a lower-protein
approach with 18 percent of overall calories coming from protein or a higher-protein approach
with 20 percent of the overall food intake coming from protein.

6. The study concluded:

* Both low- and high-protein groups lost the same amount of weight — about five percent of
their body weight over six months.

» Higher-protein group individuals chose a mix of healthier foods to eat overall, specifically
increasing their intake of green vegetables and cut back on sugar and refined grains.

* Higher-protein group individuals were better able to retain their lean muscle mass.

Which part of speech is the underlined word in the following sentence ?

Food choices are significantly impacted by even a little increase in protein cansumption.
(1) Adjective

(2) Adverb

(3) Conjunction

(4) Preposition

Options:-

.1, Option ID :- 3893,
. 2, Option ID :- 3894,
. 3, Option ID :- 3895,

« 4, Option ID :- 3896,
Answer Given:- 2, Option ID : -3894
Correct Answer :- 1 Option ID :- 3893

Question ID:- 975




Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.

1. According to a Rutgers University study, eating more protein, when dieting, improves food
choices and prevents the loss of lean body mass, which is often connected with weight loss.
The data was gathered from more than 200 men and women who took part in clinical studies.
2. The quality of the person’s food choices is significantly impacted by even a little increase in
protein consumption, from 18% to 20% of their total caloric intake, according to a review of
pooled data from many weight-loss trials conducted.

3. Dieters who follow calorie-restricted weight-loss plans often cut down on the consumption of
nutritious meals that include micronutrients like iron and zinc. Higher protein intake is often
linked to healthier outcomes, but the relationship between protein consumption and diet quality
is not well known, according to researchers.

4. Participants’ body mass indexes indicated that they were either overweight or obese, and
their ages ranged from 24 to 75. Over a six-month period, all participants were counseled to
lose weight by following a diet that was 500 calories deficient. They were encouraged to allot
18 percent of their caloric intake to lean protein, such as poultry, unprocessed red meat, fish,
legumes, and dairy, and to expend the balance of their calories on fruits, vegetables, and
whole grains. They were discouraged from ingesting saturated fats, refined grains, sugar, and
salt.

5. Participants kept detailed food records, which researchers analyzed for diet quality, specific
categories of food consumed and ratios, and specific sources of protein. The participants who
self-selected their protein intake were then characterized by researchers into a lower-protein
approach with 18 percent of overall calories coming from protein or a higher-protein approach
with 20 percent of the overall food intake coming from protein.

6. The study concluded:

* Both low- and high-protein groups lost the same amount of weight — about five percent of
their body weight over six months.

* Higher-protein group individuals chose a mix of healthier foods to eat overall, specifically
increasing their intake of green vegetables and cut back on sugar and refined grains.

» Higher-protein group individuals were better able to retain their lean muscle mass.

Which part of the following sentence contains an error?
Good source of protein includes legumes, dairy, poultry, fish and lean red meats.

(@) (b) (c) (d)
(1) (b)
(2) (c)
(3) (d)
(4) (a)
Options:-
.1, Option ID :- 3897,
. 2, Option ID :- 3898,
. 3, Option ID :- 3899,

. 4, Option ID :- 3900,
Answer Given:- 3, Option ID : -3899
Correct Answer :- 1 Option ID :- 3897




Subject : ENG_Q136-150_L2_P1_CTET
Question ID:- 976

A teacher in class 2 is holding a big book up and the whole class reads from the same book.
The book has large fonts, illustrations, and simple text so that all children can participate in
reading. What strategy does the teacher follow ?

(1) Guided Reading
(2) Shared Reading
(3) Jigsaw Reading
(4) Aloud Reading

Options:-

.1, Option ID :- 3901,
. 2, Option ID :- 3902,
. 3, Option ID :- 3903,

. 4, Option ID :- 3904,
Answer Given:- 4, Option ID : -3904
Correct Answer :- 2 Option ID :- 3902

Question ID:- 977

Jatin, a class 2 student, has a hearing impairment. As a language teacher what could be the
appropriate strategy to scaffold him?

(1) Promote the classmates to use gestures while communicating with him and be supportive.
(2) Such children should go to special schools where they will learn better.

(3) Focusing more on such a child will minimise teaching time of other children.

(4) Inform the principal that your class is not accepting and cooperating with the child.

Options:-

.1, Option ID :- 3905,
« 2, Option ID :- 3906,
. 3, Option ID :- 3907,

. 4, Option ID :- 3908,
Answer Given:- 1, Option ID : -3905
Correct Answer :- 1 Option ID :- 3905

Question ID:- 978




Assertion (A):

Early literacy is what children know about reading and writing before they read or write.
Reason (R):

Early literacy starts when a child learns to read and write at school during Early childhood care
and education (ECCE).

Choose the correct answer from the following.

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Options:-

.1, Option ID :- 3909,
« 2, Option ID :- 3910,
. 3, Option ID :- 3911,

. 4, Option ID :- 3912,
Answer Given:- 1, Option ID : -3909
Correct Answer :- 3 Option ID :- 3911

Question ID:- 979
The domain that includes the competencies of word awareness, rhyme awareness, and
awareness of sound within words which engages learners meaningfully with language is
(1) Literary Awareness

(2) Phonological Awareness

(3) Communication Awareness
(4) Spoken Awareness

Options:-

.1, Option ID :- 3913,
. 2, Option ID :- 3914,
. 3, Option ID :- 3915,

. 4, Option ID :- 3916,
Answer Given:- 4, Option ID : -3916
Correct Answer :- 2 Option ID :- 3914

Question ID:- 980

A language disorder that affects communication skills and comprehension abhilities
(1) Dyscalculia

(2) Dysphasia

(3) Dyspraxia

(4) Dyslexia

Options:-
.1, Option ID :- 3917,




. 2, Option ID :- 3918,
. 3, Option ID :- 3919,

. 4, Option ID :- 3920,
Answer Given:- 2, Option ID : -3918
Correct Answer :- 2 Option ID :- 3918

Question ID:- 981

Which method lays stress on giving opportunities to learners to participate in a purposeful talk
in the classroom as it promotes learners to encounter real life situations 7
(1) Communicative Language Teaching

(2) Grammar translation method

(3) Bilingual method

(4) Audiclingual methed

Options:-

.1, Option ID :- 3921,
« 2, Option ID :- 3922,
. 3, Option ID :- 3923,

. 4, Option ID :- 3924,
Answer Given:- 1, Option ID : -3921
Correct Answer :- 1 Option ID :- 3921

Question ID:- 982

Scanning is meant for finding out

(1) the opinion of the author

(2) difficult words

(3) a specific item or piece of information
(4) the central idea

Options:-

.1, Option ID :- 3925,
« 2, Option ID :- 3926,
. 3, Option ID :- 3927,

. 4, Option ID :- 3928,
Answer Given:- 3, Option ID : -3927
Correct Answer :- 3 Option ID :- 3927

Question ID:- 983

A teacher believes that development of language is a continuation of general cognitive
development. She follows the theoretical perspective of ,

(1) Jean Piaget

(2) B. F. Skinner

(3) Lev Vygotsky

(4) Stephen Krashen




Options:-

.1, Option ID :- 3929,
« 2, Option ID :- 3930,
. 3, Option ID :- 3931,

. 4, Option ID :- 3932,
Answer Given:- 1, Option ID : -3929
Correct Answer :- 1 Option ID :- 3929

Question ID:- 984

Grammar-translation method of teaching language focuses on
(1) language use as the main focus
(2) form-focussed teaching

(3) meaning-focussed teaching
(4) strengthening the pronunciation while learning

Options:-

.1, Option ID :- 3933,
. 2, Option ID :- 3934,
« 3, Option ID :- 3935,

. 4, Option ID :- 3936,
Answer Given:- 2, Option ID : -3934
Correct Answer :- 2 Option ID :- 3934

Question ID:- 985

Which one of the following is netthe characteristic of remedial teaching?
(1) 1t can be used for improving language skills.
(2) It can be used to rectify a particular problem area.

(3) To be carried out after the identification of problems and challenges faced by students.

(4) To evaluate student learning at a standard or benchmark.

Options:-

.1, Option ID :- 3937,
. 2, Option ID :- 3938,
. 3, Option ID :- 3939,

« 4, Option ID :- 3940,
Answer Given:- 4, Option ID : -3940
Correct Answer :- 4 Option ID :- 3940

Question ID:- 986




Which one of the following is nottrue about multilingualism?

(1) It emphasises a smooth transition between the home and school language.
(2} It helps in ensuring that every child attains grade specific skills to attain proficiency.
(3) It helps to ensure that all children learn each other's language spoken in the class.

(4) Multilingual children have greater cognitive flexibility and perform academically better than
monolinguals.
Options:-
.1, Option ID :- 3941,
. 2, Option ID :- 3942,
. 3, Option ID :- 3943,

. 4, Option ID :- 3944,
Answer Given:- 1, Option ID : -3941
Correct Answer :- 2 Option ID :- 3942

Question ID:- 987
Story telling plays an important role in language teaching. Which of the following is most
important regarding story telling?
(1) It creates fun in the class.

(2) It presents language as a whole.

(3) It develops moral values among the students.
(4) It improves student’s vocabulary.

Options:-

.1, Option ID :- 3945,
. 2, Option ID :- 3946,
. 3, Option ID :- 3947,

. 4, Option ID :- 3948,
Answer Given:- 4, Option ID : -3948
Correct Answer :- 2 Option ID :- 3946

Question ID:- 988

For teaching children of class 1, we should focus on oral language development. Which of the
following classroom practice will enable learners to enhance oral language skill at class 17
(1) Role play

(2) Grammar games

(3) Singing rhymes

(4) Learning alphabets

Options:-

.1, Option ID :- 3949,

. 2, Option ID :- 3950,

. 3, Option ID :- 3951,

. 4, Option ID :- 3952,




Answer Given:- 3, Option ID : -3951
Correct Answer :- 1 Option ID :- 3949

Question ID:- 989

A language teacher generally gives task that has to be done in pairs and groups. What should
the teacher do when learners are involved in the task?

(1) The teacher should not sit idly. She must read something to enhance learning.

(2) The teacher must ensure that everyone should participate and scaffold them.

(3) Respecting the autonomy of learners, she must leave them.

(4) Ensure that students should not make noise in the class.

Options:-

.1, Option ID :- 3953,
« 2, Option ID :- 3954,
. 3, Option ID :- 3955,

. 4, Option ID :- 3956,
Answer Given:- 2, Option ID : -3954
Correct Answer :- 2 Option ID :- 3954

Question ID:- 990
At primary level a teacher generally motivates learners for drawing as

(1) children love drawing.

(2) it develops gross motor skills.

(3) it will help them to be an artist.

(4) it strengthens their grip and control on pencils.

Options:-

.1, Option ID :- 3957,
« 2, Option ID :- 3958,
« 3, Option ID :- 3959,

. 4, Option ID :- 3960,
Answer Given:- 4, Option ID : -3960
Correct Answer :- 4 Option ID :- 3960
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